Date : 05.05.2019

Code# S-2

TEST PAPER
NEET-2019

Max. Marks : 720

Please read the instructions carefully. You are allotted
5 minutes specifically for this purpose.

FugT 39 el B taF | 92 | w5 fAne ARy vy
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1. Immediately fill the particulars on this page of the Test

Booklet with Blue / Black Ball Point Pen. Use of pencil is
strictly prohibited.

19941 gRA®T & T U WX JEWEH [Aawer d/we did
wrge U9 @ dTa W | ufad @ gan Rega affa 2

. The Answer Sheet is kept inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully.

2. IR UA T4 uqT QRAFT B /R WM B | WG TSB! uLen
gRAPT Wiad @ HET AN A IR U @A BT
Fraen-gde fAgzer W |

. The test is of 3 hours duration.

3. gdlern &) raftr 3 T B

. The Test Booklet consists of 180 questions. The maximum
marks are 720.

439 gda gRaeT § 180 weH B | AfTHIH fd 720 B |

. There are three parts in the question paper A, B, C
consisting of Chemistry (45), Physics (45) and Biology
(90) questions. Each question is allotted 4 (four) marks for
correct response.

5. 39 Qa1 gRAHT § A 917 A, B, C B | 9D wedAF WM A
wrA Rgm (45), «ifds fagm (45), Td <fla [=wE (90)
g7d 2| R 9l ueAl & o WM 2| 9P U & qgl
SR ® fav4 (AR) e fuiRa 63 ™ 7|

. Candidates will be awarded marks as stated above in
Instructions No. 5 for correct response of each question. %
[one fourth (-1)] marks will be deducted for indicating
incorrect response of each question. No deduction from the
total score will be made if no response is indicated for an
item in the answer sheet.

6. TRfA BT y_P I S & Iy SWied AdeH d'=ar 5
3 FAdymErR A R AN | 9dS 93T & Tad IR B
fad vt v (-1) @ faor s afk W gRawr 4
el ued ®1 SR A8 Rar w1 81 @1 A Uid 9 B
et T8 f5 SR

. There is only one correct response for each question. Filling
up more than one response in any question will be treated
as wrong response and marks for wrong response will be
deducted accordingly as perinstructions 6 above.

7.90® 939 BT dad UH B W8l SR 2] TP | 3Ifd ST
29 U SW TAd ST AFET SR IR SWIF [T 6 D
AR 3T HIe foad SR |

Filling the Top-half of the OMR :

Use only Blue/Black ball point pen only for filling the
OMR. Do not use Gel / Ink/ Felt pen as it might smudge
the OMR.

INTAIR (OMR)  HuH-3rd RW BT 4vE :
OMR &1 ¥4 & fau @daa fa/w<@ diad 99 $1 STAT
HIfIT]

. Write your Roll no. in the boxes given at the top left corner of
your OMR with blue/black ball point pen. Also, darken the
corresponding bubbles with Blue/Black ball point pen only.
Also fill your roll no on the back side of your OMR in the
space provided (if the OMR is both side printed).

8. OMR & 9sd W 9@ &I # fau 7v siew § au+r Jof
¥R /Bt dicd yge 9 Rifee qen v Mo W dad
A/®rd 99 F 4RI OMR & NV F 93w ff JyAT oA
FxY fafyy (@ OMR 91 avw vl g8 B).

. Fill your Paper Code as mentioned on the Test Paper and
darken the corresponding bubble with Blue/Black ball point
pen.

9.OMR W IUAT Yux ®re fIfRey qem Fad el &1 N/ rad
9fct 99 |/ B BINTT |

10. If student does not fill his/her roll no. and paper code

correctly and properly, then his/her marks will not be
displayed.

10 afe fageff ruar @ F=WI AT IIR Be D AR SfEd
adre T8 9xar ® 99 S¥e1 uRu™ e faar SEm

11.Since it is not possible to erase and correct pen filled

bubble, you are advised to be extremely careful while
darken the bubble corresponding to your answer.

1. 9fF 99 9 Y U Mo fAemr sy gurar @va T8 2
gafery g WrEen yde ud SR B Ml Bl W |

12.Neither try to erase / rub / scratch the option nor make the

Cross (X) mark on the option once filled. Do not scribble,
smudge, cut, tear, or wrinkle the OMR. Do not put any stray
marks or whitener anywhere on the OMR.

12.A%eu &1 9 AeN/9 Y39 B3 MR T & Tad (X) forg a7
R | OMR &Y &1 7 & ®BI$ 9 & 7=l dg] # e &g O
feme 91 9% OMR W 81 aMY|

13.If there is any discrepancy between the written data and the

bubbled data in your OMR, the bubbled data will be taken as
final.

13. I} OMR # fHt TR &1 R 1T ariwst don Met fHhy Aidel
# fREME ® a1 e {5y sfiwet o1 & [ "1 ST |
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Choose the correct (V') answer:
1.

| €l STR BT A (V) BN

From evolutionary point of view, retention of the female | 1. fa@miTe® gt ¥ SH® droTv—Sgfig # HeT FHSG RS

gametophyte with development young embryo on the I
parent sporophyte for some time, is first observed in :

(1) Pteridophytes
(2) Gymnosperms
(3) Liverworts

(4) Mosses

Extrusion of second polar body from egg nucleus
occurs :

(1) before entry of sperm into ovum
(2) simultaneously with first cleavage

(4) after fertilization

DNA precipitation of a mixture of biomolecules can be
achieved by treatment with

(1) Methanol at room temperature
(2) Chilled chloroform

(3) Isopropanol

(4) Chilled ethanol

Due to increasing air borne allergens and pollutants, | 4.

many people in urban areas are suffering from respira- |

tory disorder causing wheezing due to :- |

(1) Proliferation of fibrous tissues and damage of the
alveolar walls

(2) reduction in the secretion of surfactants by
pneumocytes

(3) benign growth on mucous lining of nasal cavity

(4) inflammation of bronchi and bronchioles

called :

(1) toassess threat posed to native species by invasive
weed species

(2) forimmediate steps to discontinue use of CFCs that
were damaging the ozone layer

(3) toreduce CO, emissions and global warming.

(4) for conservation of biodiversity and sustainable
utlization of its benefits.

|
|
|
|
|
|
2.
|
|
|
|
(3) after entry of sperm but before fertilization I
|
| 3.
|
|
|
|
|
|
|

|
|
|
|
|
|
|
The Earth summit held in Rio de Janeiro in 1992 was | 5.
|
|
|
|
|
|
|
|
|
|
|
|
|

® AT fIBTERITS THOT YUT Bl BB AH & [ofQ &IROT T
RESIICICE R ICECIRID I

(1) cRemerze

(2) st

3) foreRae

(4) w4

3fe19] Bscb W fa<lia gdra be qrex feet 87

(1) BT T FSTY] H YT A et

(2) v faged & Ar—anT

(3) I & UL & I8 cifdh A= ¥ Ugel

4) M= & 919

g AT & T AT H fFad SU=R R DNA 3raeror
I YT BT ST Al &7

(1) R & IIAE R [T o

(2) T FARBH |

(3) STHAHIYATSA 3

4) =hfaa soEta &

IR §RT S~ UeToid Ud UGuDI & BRI TR T H
HIH! AT A PR, I BRERIEC I R o,

fifsa g Ffe -

1) WIER Hdldi BT TR Td ST iRl o afa

2) gHMISE & §RT U Aihad & TG0 H B

3) RAT BT # TIWT 3R BT AFel i
)

Tal Qd TaABIRN BT SAFAHI

4

|9 1992 H RAT <1 SR H FR g3 Y AR 4l

fovarm T eogr?

(1) 3D YOI STAT RT WA SRTAT &R Y SR
@ Houidd & forg

(2) MUBHTA (CFCs) & STINT & debled THTG B &
forT S 3o RA &7 @ &R & B |

(3) CO, IS 3R ARdH IHA Pl HH PR & oy

(4) Stafafdedr & H=er & forg 3R 399 &M & gRY

ST & oy |

(
(
(
(
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6.

10.

Match the hominids with their correct brain size.
(@) Homo habilis (i) 900cc

(b) Homo neanderthalensis  (

(c) Homo erectus (iii) 650-800 cc

(d) Homo sapiens (iv) 1400 cc

Select the correct option.

(a) (b) (© (d)
) (i) (v) (i) (if)
2) (iv) (iii) i) (ii)
3) (i) (i) (iv) (ii)
4) (i) (ii) i) (iv)

1

(
(
(
(

How does steroid hormone influence the cellular| 7.

activities ?

(1) Activating cyclic AMP located on the cell membrane |
(2) Using aquaporin channels as second messanger
(3) Changing the premeability of the cell membrane
(

4) Binding to DNA and forming a gene-hormone
complex

(1) DNA polymorphism

(2) Novel DNA sequence

(3) Genes expressed as RNA

(4) Polypeptide expression |

It takes very long time for pineapple plants to produce| 9.

flowers. Which combination of hormones can be applied |
to artifically induce flowering in pineapple plants
throughout the year to increase yield ?

|
(1) Gibberellin and Abscisic acid |
(2) Cytokinin and Abscisic acid |
(3) Auxin and Ethylene I
(4) Gibberellin and Cytokinin |

Which of the following ecological pyramids is generally | 10.

inverted ?

(1) Pyramid of biomass in a forest
(2) Pyramid of biomass in a sea

(3) Pyramid of numbers in grassland
(

|
|
|
|
|
|
4) Pyramid of energy |
|
|
|

6.
|
|
ii) 1350cc |
. |
|
|
|
|
|
|
|
|
|
|
|

|
|
|
|
|
Expressed Sequence Tags (ESTs) refers to: I 8.
|
|
|
|

BIHISI BT S g AR AT & A1 A HIfoy |

(@) & efafera (i) 900cc

(b) BT fFRERYR™ (i) 1350cc

(c) BHI RaTH (iii) 650-800 cc
(d) B afuEs (iv) 1400 cc

o

S fadwed &1 = BIfTY
(a) (b) (c) (d)
(1) (iii) v) () (ii)
2 (v) ii) () (ii)
(3) (iii) i) (iv) (ii)
(4) (i) i) () (iv)
PIRTOT fharsil &I T g fFd ThR JHTad Hd
22
(1) IeT foreet! # Rerd ashia AMP &1 Afsha axa
(2) THITAR arfemrall &1 fgdi Hawre o arg SunT
PR
(3) BIRT f3reell & URIHIT TEADBY
(4) DNA ¥ R Ud STIF 8TAIE Brdelad d9Tdhs
e A gl (ESTs) BT T ey @ -
(1) DNA gg=euaT
(2) I DNA 3/
(3) RNA @ ®U ¥ ST &r 3ffrera gHT
4) diferuergs sriafad
AT & Ule Bl g Iq~ PRI H oTHll FHI ST © |
T & IATEH DI 98 & forg, 3AH a9 W HIEH w4
A g YRT BR & oY HIF AT B ST A1fey?

1) Rrave= 3k viifie e
2) WTECIdIg-A iR TS et
3) 3ifafie 3R Ufdrei=

4) RTavel iR AgeIHETH

1

(
(
(
(

(
(
(
(

fr=faRaa # 9 o= A niRRafae fIRfAe ar=Ia: Seer
BIT 272

(1) Ta 99 # SR & fIRfre

(2) TP W% H SR BT RS

(3) T H W= &I Rfrs

(4) ot &1 fRfAe
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11. Which of the following pair or organelles does not contain

12.

13.

14.

15.

DNA?

(1) Lysosomes and Vaculoes

(2) Nuclear envelope and Mitochondria
(3) Mitochondria and Lysosomes

(4) Chloroplast and Vacuoles

Select the correct sequence for transport of sperm cells
in male reproductive system.

(1) Seminiferous tubules — Vasa efferentia —
Epididymis — Inguinal canal — Urethra

(2) Testis » Epididymis — Vasa efferentia —»

Vas deferens — Ejaculatory duct — Inguinal

canal — Urethra — Urethral meatus

3)

Testis — Epididymis — Vasa efferentia —
Rete testis — Inguinal canal — Urethra
Seminiferous tubules — Rete testis —»

Vasa efferentia — Epididymis — Vasdeferens —
Ejaculatory duct — Urethra — Urethral meatus

)

Match the following hormones with the respective
disease :

(1) Insulin

(2) Thyroxin

(3) Corticoids

(4) Growth Hormone

() Addison’s disease
(i) Diabetesinsipidus
(i) Acromegaly

(iv) Goitre

(v) Diabetes mellitus

Select the correct option.

(a) (b) (© (d)
UNY iv) (i) (iif)
) (i) iv) (i) (iif)
3) v (i) (if) (iif)
(4) (i) iv) @iy ()
Persistent nucellus in the seed is known as :
(1) Hilum (2) Tegmen
(3) Chalaza (4) Perisperm

Pinus seed cannot germinate and establish without
fungal association. This is because :

(1) It hasvery hard seed coat

(2) Its seeds ontain inhibitors that prevent germination.
(3) Itsembryoisimmature.
(

4) It has obligate association with mycorrhizae.

I11

13.

|
|
|
|
|
| 42
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| 14.
|

|

|

tl 15

|

|

|

|

|

|

|

7 FIRMHTTRT & g ¥ fd § DNA 7181 8rar?

(1) AT U (T

(2) Db IATARYT UG B0

(3) LFBOTBT T STATHTY

(4) FARIIRT Uq et

. TR A IF W YERIY] BIRTBIS & URTe & Hel HH Bl

T BRI |

(1) epoTich AAABIE — Yeh AMRBIT — IAfAYOT
IO ATel — 3 AN

(2) guOT—> IIIYT — b ATZHI — b ATBD —>
A AT(E —> F&I0T AT — JH AN —> RIS HIed
(3) JIOT—> IV —» Y ATMRBIG —> FUUT SAT(CTDBIT —>

TEToT AT — HF AT

(4) YhoTd AfTDBIE — YT FATfTBT — e ATZBIY —

ST@E[GFUT—> b diedh — REA 1Al -

T3 q1 - YA Aieq
e gl &1 S9d 0T & A1 A= &
(1) sgfer (i) ofea T
(2) URREA (iy SR gafifes
(3) ®ifcaizs (iif) WepITATel
(4) 9f& T (v) oS

V) SIS Aelled

S fddmed BT T3+ Bty |

(a) (b) (c) (d)
(1 v (iv) () (iii)
(2) (i) (iv) () (iii)
3) v () (ii) (iii)
(4) (i) (iv) (iii) ()
S # aRe NATSHTI B RAT HJT STl 27
(1) =TT (2) 3 Pad
(3) frmT (4) Ryor Y

5. U5 & 4151 Badh & ASART B (T SfHR AR iU T8l
81 9 | I8 [P SR BT 2°

(1) DT dISIERYT 980 HOR BT &

(2) 9ISt | 9T SURIT B 8 S JAHRVT Bl I & |
(3) DI Yo IURUFT BT 2

(4) AP HaDH (ATSDIRIGSN) & AT AR FH 2
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16.

17.

18.

19.

20.

Cellsin G, phase :

(1) suspend the cell cycle
(2) terminate the cell cycle
(3) exitthe cell cycle

(4) enter the cell cycle

Match the following structures with their respective
location in organs:

(@) CryptsofLieberkuhn (i) Pancreas

0
(b) Glisson’s Capsule (i) Duodenum

(c) lslets of Langerhans (iii) Small intestine
(d) Brunner’s Glands (iv)Liver

Select the correct option from the following :

@ ® @© @

(M @ & 0 (if)
(2) (i) (i) (i) iv)
3 (i) @) (if) iv)
@) (i) ) () (if)

Grass leaves cural inwards during very dry weather. select | 18.

the most appropriate reason from the following

(2) Tylosesinvessels

(3) Closure of stomata

(4) Flaccidity of bulliform cells
Consider the following statements :

(A) Conzyme or metal ion that is tightly hound to enzyme
protein is called prosthetic group.

(B) A complete catalytic active enzyme with its bound
prosthetic group is called apoenzyme.

Select the correct option.

(1) Both (A)and (B)is true

(2) (A)is false but (B) is true

(3) Both (A)and (B) are true

(4) (A)istrue but (B) is false.

Respiractory quotient (RQ) value of triplamitin is:
(1) 0.07

(2) 0.09
(3 0.9
(

!
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| . . |
(1) Shrinkage of air spaces in spongy measophyll |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
4) 0.7 |
|

(1) BB AP BT AT B < &
(2) PIDT dh B FATK B <<l &
(3) BIGT TH A IR D ey
(4) PIBT AP | FAYT BT B

. 1 AT @ S H SHd X & A A Bifoe

() <iaxegT R (i) SR
(b) e &1 dga (iiy =l
(c) oFREd g (iii) egeter
(d) g~ T (v) g

1 ® 9 Sfua fAdey &1 =g+ $ifvTe

@ ® @© @

(1 G & 0 (if)
() (i) (i) (i) iv)
(3 (i) @) (if) iv)
@) (i) ) () (if)

FIRD b AIAH H b1 B gRIET <R P 3R G SIrel!

2 | Fr=forRad % & 59 FaRT SUYdT BIROT Bl I BIFTY
(1) Sl yoiHedTae | 9 Il &1 Rger

(2) arfRdell # e

(3) I BT 9w BT

(4) oNBr BIfraTait @1 fRIfdrer BT

. 1 FoAl @t e H R

(A) HBUSITSH 3FeraT 3 Sl YollsH U & gedr 9 ae
B 8, URAfedh W8 dedld

(B) U& URfCH W A 981 G0 IORG Afhd UoIsH
TATGSTIgH HEATAT &

S e b1 =3+ BTy

(1) <MI (A) 3R (B) 91

2) (A) I B oIfdh (B) § &

(3) T (A)3fR (B) TTord &

@) (A) SET 8 oIfdhd (B) TTed &

. SIRUIATCT & ¥ad une (RQ) &1 A e &7

(1) 0.07
) 0.
(3) 0.9
@) 0.7
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21.

22,

23.

24,

25.

26.

27.

Which of the following statements is incorrect ? I
(1) Infective constitunet in virsuses is the protein coat. |
(2) Proins consiost of abnormally foldedf proteins |
(3) Viroids lack a protein coat. I
(4) Viruses are obligate parasites. |
Phloem in gymnosperm lacks : |
(1) Companion cells only I
(2) Both seive tubes and companion cells |
(3) Albuminous cells and sieves cells I
(4) Sieve tubes only |
Under which of the following conditions will there be no |
change in the reading frame of following mMRNA ? |
5AAGAGCGGUGCUAUUZ' I
|
|
|
|
|
|
|
|
|
|
|

(1) Insertion of Aand G at 4th and 5th positions
respectively

(2) Deletion of GGU from 7th, 8th and 9th position
(3) Insertion of G at 5th position
(4) Deletion of G from 5th position

Identify the cells whose secretion protects the lining of
gastro-intestinal tract from various enzymes.

(1) Oxyntic Cells
(3) Chiefcells

(2) Duodenal cells

(4) Goblet cells |

What is the site of perception of photoperiod necessory | 25.

for induction of flowring in plants ? |

(2) Leaves |

(4) Pulvinus I

(1) Shoot apex
(3) Lateral buds

What would be the heart rate of a person if the cardiac | 26.

outputis 5L, blood volume in the ventricles at the end of |
diastole is 100 mL and at the end of ventricular systole |
is 50 mL? |
(1) 100 beats per minute

(2) 125 beats per minute

(3) 50 beats per minuts

(4) 75 beats per minuts

|

|

|

|

|
Tidal volume and expiratiory reaserv volume of an athelte I 27.

is 500 mL and 1000 mL respectively what will be his|
expiratory capacity if the residual volume is 1200 mL ? |

(1) 2200 mL (2) 2700 mL |
(3) 1500 mL (4) 1700 mL :

21. fa=foRad & 9 &9 91 B TeId 82

(1) fuTopil # HehbrHe WTSH U 3Rl Bl 2 |
) ot # srfvafig 98 g8 Wi Bt @

(3) faRIgs & WfeT 3MMaRoT BT 3119 BT 2 |

(4) fauTop Sifrard w9 & R B 2 |
ISR & FeArRM H fdeT arra giar 27

(1) Had FEoR BIRIBIR BT
(2) T AfABI 3R FEAR BIRTBIS ST BT
(3) T PIRTHIAT 3R AT DITRABI BT

(4) Had aTel AfTbral &1

fora araverr # fav v 99 mMRNA & Ued & UEIR § &I
gRac T8l 8RM?

5AAGAGCGGUGCUAUUZ'

1) 4di vd 5df Raf R e ATd G & fae= &
2) 74, 84 vd 9dt Rerfadl v GGU & et |
3) 541 Rofd G & fae= |

(
(
(
@) 531 Rafd WG & fadmos |

. DIFRHRI BT Uga—u 596 Wg $Tex 3fid U & 3RTR Bl

H YBR B UolTgdl A YR B ¢ |

(1) offfaafes BR@ETE (2) TN BIRIGN

(3) Fe= BTy (4) Meie BIRIHTY

ureal § YW Bl YRT PR b [TU e GebIT BIel Pl
1T DR BT AT DI AT 272

(1) W oY (2) uft

(3) ured Bfctdr (4) T (Tedi=e)

IS U A BT ge a5 L R & o # e
H ®ER AR 100 mL vg el e & afd § 50 mL
g T4 9D geg 1 B8Rf?

(1) 100 e yfife

2) 125 wiew ufifiee

(3) 50 Wi ufifiee

(4) 75w ufdfiee

U AR & Sakid IRIA Ud Freaadl gRIEa smaaT

%H99: 500 mL vd 1000 mL ® | afe srafdre emadH
1200 mL 81, 99 T -39 &9ar o1 8?2

(1) 2200 mL (2) 2700 mL
(3) 1500 mL (4) 1700 mL
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28. Placentation, in which ovules devlop on the inner wall of| 28. I ISV Bl R FHEl oidl & e dioivs e o

29.

30.

31.

32.

the ovary orin peripheral partis :

(1) Parietal (2) Free central
(3) Basal (4) Axile
Which of these following methods is the most suitable

for disposel of nuclear waste ?
(1) Dump the waste within rocks under deep ocean

(2) Bury the waste within rocks deep below the Earth’s
surface

(3) Shoot the waste into space
(4) Bury the waste under antarctic ice-over
Which of the following statements is incorrect ?

(1) Conidia are produced exogenously and ascospores
endogenously

(2) Yeasts have filamentous bodies with long thread like
hyphae

(3) Morels and truffles are edible delicacies

(4) Claviceps is a source of many alkaloids and LSD.

Which one of the following equipments is essentially| 31.

required for growing microbes on a large scale, for|
industrial production of enzymes? |

(1) Industrial oven

(2) Bioreactor I
(3) BOD incubator |

(4) Sludege digester
|

Match the following organisms with the products they| 32.

produce : |
(@) Lactobacillus (i) Cheese
b) Saccharomyces cerevisiae (ii) Curd

(iii) Citric acid

(
(c) Aspergillus niger
( (iv) Bread

d) Acetobacter aceti

(v)Acetic acid

@ ® @© @
v)
i)

iv)

(i)
(

i V)

(iif)
(

V) i

(iif)

(
(
(
(iv) (iii) (v)

|
|
|
|
|
|
|
|
Select the correct option. |
|
|
|
|
|
|
|
|

NEET-2019/Code # S-2
it ox a7 gReN 9T F fasdia 81 2 |
(1 Enip (2) g i
(3) 3rEmat @) Wi

9. 1 # &1 319 W fafdy T Sulrer & e & forg
qaY 31fId Iugad 272

(1) 3R BT TER HSAR & A< FCcHl H STl a1
(2) 3FURIE BT gl B ATs & irdl Tl Il H qaT ST
(3) MR & faRer # TT <A

(4) Srufdre BT feTdHicH & f&H eTed # TaT <1

. frefor

frefaRad & 9 ST HAF Tad 82

(1) BT IRWTT BT § I B4 7 3R ThIdIaT]
sicaifer v # I B 2 |

(2) A< B A GFITA BaD darell T BT BN 2 |

(3) #Re 3R ¢het W ANY &I B |

(4) T 98T W Uedal(gs 3R YA TSl &l T 2 |

ToTgHl & g T W Eifis Sared & fofy gesrsial o
ITH & forv fA=forRad & & 19 X SUBRT BT TaTIHh]
gl 87

(1) 3fenfies sfa (2) Vg RAaex
(3) BOD w1RF (4) TS IHERD
=T Sifdepl T S71a §IRT IATTad a3l A GHlerd HITSTY

(@) olaRaRTers (i) IR
(OISERBIESIS (i) <&
(c) THfierd fFiR (iii) Rifeew areet
(d) VHiIeTdaeR TRidT (v) S
) vRafe® e

|EI fddhey BT Iu BTy

(a) (b) (c) (d)
(1) (i) iv) v) (i)
(2) (i) (i) (iif) v)
(3) (i) iv) v) (iif)
(4) (i) iv) (iif) v)
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33. Select the incorrect statement.

34.

35.

36.

37.

™

@)

3)
)

animal.

33.
Inbreeding selects harmful recessive genes that
reduce fertility and productivity.

Inbreeding helps in accumulation of superior genes
and elimination of undesirable genes.

Inbreeding increases homozygosity.

Inbreeding is essential to evolve purelines in any|

Which of the following inmune responses is responsible | 34.
for rejection of kidney graft? |

(™
@)
3)
)

Which the statements given below is not true about
formation of annual rings in trees?

™

@)

(3)

)

Which of the following is true for golden rice?

™

Inflammatory immune response
Cell-mediated immune response
Auto-immune response

Humoral immune response.

Activity of cambium depends upon variation in
climate.

|
|
|
|
|
|
| 35.
|
|
|
. - |
Annual rings are not prominent in trees of temperate |
region. |
Annual ring is combination of spring wood and |
autumn wood produced in a year. I
Differential activity of cambium causes light and dark |
bands of tissue - early and late wood respectively. |

I 36.

It is drought tolerant, developed using Agrobacterium |
vector. |

It has yellow grains, because of a gene introduced |
from a primitive variety of rice.

It is pest resistant, with a gene from Bacillus

|
Itis vitamin A enriched, with a gene from daffodil. I
|
thuringiensis. |

|

What is the genetic disoder in which an individual has| 37.
an overall masculine development gynaecomastia, and |
is sterile |

(™
@)
3)
)

Edward syndrome

Down’syndrome

|
|
|
Turner’s syndrome |
Klinefelter's syndrome I

T B BT =TT BRI,

(1) id: UST BINERS I ST BT T BT & ST
ST Td STEdHAT HH B 2 |

(2) Sid: USTH 9IS SiFl & |Ug Ud @rsl Siel &
ST § HETIAT PRl ©

(3) fct: ForTT FHHAT # gfe v 2

(4) 3iT: U B SR & Yg aUhA & (AT BIT
@ fore amawsd ¥ |

1 # & @i A wforen sgfoar 9o FRY &1 FHR S

& foy STRerh 87

(1) SRS UfReET rfshar

(2) @IfrenT wrfead ufiRer srgfoman

(3) w—ufeRet rfehar

(4) T ufcrer rgfhar

geft # a1 geral & a7 & fawa & fr=forRad & 9 34

AT BT Tl el 572

(1) dffaas o1 dfdaar sterarg # fafa=rar w iR 2 8

(2) =Ndmvr Hica=ig &3 & gefl # a1 ge geue 78
Bl 8 |

(3) aIf¥® gerd Ug 9¥ # 9Hd <% 3R IRE TT® B I~
B BT Uh Ao 2 |

(4) T (Hffggw) o AT AT & BRU SHAd b Tob
T 3R TR T 9Tl HHI: 3ETH 3R UTISTs Bl
CEEI

e adal & fawg # fF=foRad #§ 9 319 91 e 98

2

(1) TIIFIRIA IR BT ITANT B
3R I8 Peha Feeid 2

(2) TG B U 3MeT fhvsd & S a9 & HRoT 59
M it 2

(3) UE WA b S aretr, fAerfi—v ygRa @
(4) I8 Rirerd YRITIRIT & S arerr dies Ui &
I8 ATAIRIS PR B 2, rad ga afad 3 J=ra: ey
Ty 81T ©, AI&T SeTVT B © SR Il BIAT 57

fa N aN

[dhAd

farmar
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38. Which of the following statements regarding post, 38. quiI uredl # {8 & ugand faerd & fava § fAefaRaa

39.

40.

41.

42,

fertilization development in flowering plants is incorrect?
(1) Central cell develops into endosperm

(2) Ovules develop into ombryo sac

(3) Ovary develops into fruit.

(4) Zygote developsinto embroyo.

Which of the following in the most important cause for, | 3

animals and plants being driven to extintion?
(1) Economic exploitation

(2) Aline speciesinvasion

(3) Habitat loss and fragmentation

(4) Droughtand floods.

Which of the following constraceptive methods do involve | 40.

arole of harmone?

(2) Pills, Emergency contaceptives, Barrier methods

(3) Lactational amenorrhea, Pills, Emergency
contraceptives

(4) Barrier method, Lactational amenorrhea, Pills

Consider following features :

(@) Organ system level of organisation

(b) Bilateral symmetry

(c) True coelomates with segmentation of body

Select the correct option of animal groups which possess

all the above characteristics.

(1) Arthropoda, Mollusca and Chordata

(2) Annelida, mollusca and Chordata

(3) Annelida, Arthropoda and Chordata

!
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(1) CuT, Pills, Emergency centracetives |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(4) Annelida, Arthropoda and Mollusca |

Which of the following factors is responsible for the| 42.

formation of concentrated urine ? |
(1) Secretion of erythropoietin juxtaglomerular complex.
(2) Hydrostatic pressure during glomerular filtration.
(3) Low levels of antidiuretic hormone.

(4) Maintaining hypercsmolarity towards inner medullary
interstitum in the kidneys.

H A DA A HUF Tord 22

(1) SE1T BIRMHT Yoray 7 fsfid el 2
(2) 9T Yot BT 7 fAHRAT BT 2 |

(3) STy Wt H fadmRid gar 8

(4) g, yor ¥ fawRa g 2.

uredl 3R Sigell Bl fIelluT & IR R A & fory
fr=ferRaa # | o9 A1 Fa Feagel HROT 82

(1) enfe® qred
2) fac=h Sirfarat &1 smeroT
(3) SMaRI el TeIr fagvsH
(4) ¥ SiR a1g

=T ¥ o TiTRTeres TRIhT H BTHIM AT 3T&T PRl 272

(1) CuT, Mferdt, SMurddrel™ THARRIS

(2) Mferdr, maTad e, THARRS < fafert

(3) =AU 3TcId, Merdl, JMATAdhTe THARIES
(4) g fAfet, Taau s, Miferit
frrferRaa deron wR faaR $ifTg:

(@) ST dF EI3+ Wi

(b) fgured Tnfafa

(c) IOl WIET Ud IRR BT FerHad

9 S g S {1 IWRIad faRrean <wid & & forg 92
faeeq g |

(1) 3MATUIET, ATCIDI Ud disel

(2) VAfeTET, AIe®bl UG discl

(3) VHferer, amfurer ug wiser

(4) TAferer, smufdrer vd Arernr

wifad 73 & A0 & forg 7/ § | B9 91 FRS SRR

1) STRCFIBN BiFeidd gRT SRS ST &1 Sau
T

(2) B FREd & IRM wd Wided a4

3) TiRIEIieH gHA BT 4 wR

(4) gaPi B MRS HeAEN SSIRINRIH Bl TR® Al

SRATATRIE FHATY AT |
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43. Match the following organisms with their respective | 43. fo= Sial &1 S9@) falR¥rearett & A1 e &7

45,

46.

47.

48.

characteristics :

!

|

(a) Pila (i) Flame cells |
(b) Bombyx (i) Comb plates I
(c) Pleurobrachia (i) Radula |
(d) Taenia (iv) Malpighian tubules |
Select the correct option from the following : I
(a) (b) (© (d) |

DI % R () N |
@ (i) (i) iv) (i) I
(3) (i) (i) (i) iv) |
@ @iy o @0 |

. Xylem translocates : I 44.

|

(1) Water mineral salts and some organic nitrogen only

(2) Water mineral salts some organic nitrogen and
hormones

|
|
(38) Water only |
(4) Water and mineral salts only |
What is the direction of movement of sugars in phloem? | 4 I
(1) Downward |
(2) Bi-directional |
(3) Non-multidirectional I
(4) Upward |
The correct sequence of phases of cell cycle is? I 46.
1) S»G,-»>G,»>M |
@ G,>S—>G,»>M |
@) MG, »>G,—>S I
4 G,>G,»>S->M |
|
|
|
|
|
|
|
|
tl 48
|
|
|
|

The shorter and longer arms of a submetacentic! 47.
chromosome are referred to as:

(1) g-arm and p-arm respectively
(2) m-arm and n-arm respectively
(3) s-arm and I-arm respectively

(4) p-arm and g-arm respectively

Which of the following can be used as a bicontrol agent
in the treatment of plant dieases?

(1) Anabaena (2) Lactobacillus

(3) Trichoderma (4) Chilorella

(@) Trge (i) SdTeT HIRIETY

(OREKIEERS] (i) ®HHd ufccH

(c) =R (ESUEES]

(d) e (iv) Herdnfy Aferard

freifd fadedl @ | el IR BT =9I DIIC:
(a) (b) (c) (d)

(1) (i) (iv) (iii) ()

(2) (iii) (ii) (iv) ()

(3) (iii) (ii) () (iv)

(4) (iii) (iv) (ii) ()

TS et fhA®T RIATIRYT HRAT o

(1) @ e, WIoT ol AR HFE S ATSSISH BT
(2) St QST Aqull HB ST ATGEI Ud B BT
(3) bl Siel

(4) Had STa AR @fst Faui &1

. FAITH H IO DI T B 9 B W Bhr 282
(1) SrerTY
(2)
3) E@ﬁ?ﬂ%ﬁ

(4) FEaE

DIFTBT FHUT DI AT BT HEl HH HIF AT 27

(1) S»G,-»>G,»>M

2 G,>S->G,»>M

@) MG, »>G,—>S

4 G,>G,»>S>M

U SUHID] UGS P! BICI UG g1 Ud TSI YSIIail Bl
Fed © -

(1) L q-4ST T p-goir

(2) P M-I Td n-4SiT

(3) HHTM: s-YoIT Vg |-l

(4) L p-Sil T gl

. F=foried % & f4 S R0 & U6 RS & w9 4, 91y
T SYAR & oIy SUIRT fHar S AT 272

(1) TG (2) iaRNede™

(3) greepreHm (4) AR
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((jf)pec;&‘j?tﬁl 2) GLUTIV (1) oLl @) GLoThY
3) GLUTI @ GLUTII (3) GLUTI (4) GLUTII

50. Purines found both in DNA and RNA are:
(1) Guanine and cytosine

49. Which of the following glucose transporters is insulin- | 49. = ¥ e DI URATED $YfeTT— R 872
0

50. DNA 3iR RNA SHI # TR S dTel RRIF B A 87

(1) 7arie iR AR
(2) AgeRiF 3R arrE
(3) ufe™ 3R ar=
(4) ufe 8k Tari=

(2) Cytosine and thymine
51, ‘TRIT AHEG T HY WINd B AT 87

(3) Adenine and thymine

(4) Adenine and guanine
51. Drug called ‘Heroin’ is synthesized by:
(1) AT & TAZHRINBIOT A
(2) #Afha & AREIHRT |
(3) #ifha & MergeliaRoT |
(4) HAfHT & THeEedRo A

Sfad fAeed &1 a9 &I -

(1) glycosylation of morphine
(2) nitration of morphine
(38) methylation of morphine

(4) acetylation of morphine.

52. Select the correct option. 52

(1) YH TAAT Uh Ydel ave Rker € vd T gsaferat
BHRT 3 Gefly HRRaph] Ud R AT H SRR & 1S

(1) Eachrib is a flat thin bone and all the ribs are
connected dorsally to the thoracic vertebrae and

ventrally to the sternum. eI Bl € |

(2) There are seven pairs of vertebrosternal, three pairs (2) A g alcaReRTd, A4 g dficadise Ud &l
of vertebrochondral and two pairs of vertebral ribs. qfidger uaferdt B 2

(3) 8™, 9t and 10" pairs of ribs articulate directly with (3) 84, 9dii wa 10t uaforal &1 gvt SRR & 1T el
the sternum. ey gt B

(4) 11* and 12" pairs of ribs are connected to the (4) 1131 ©d 1241 yaferal &1 g Hrem IuTReT B ARl
sternum with the help of hyaline cartilage. I SRR & A1 FATT It 2 |

53. A gene locus has two alleles A, a. If the frequency of | 53. T® S iTpT TR ST Tl A, a® | afe JaTdT SeficT A &Y
dominant allele Ais 0.4, then what will be the frequency | IRART0.4 2 9 FAfe § FAIHSH P, fvesl vd
ofhomozygous dominant, heterozygous and| YA AYFTE! ATl BT TRARAT &7 B2
homozygous recessive individuals in the population? | (1) 0.16(AA); 0.48(Aa); 0.36(aa)

g; g'géxi; g'gzzﬁa;; g'zzzaa; I (2) 0.16(AA); 0.36(Aa); 0.48(aa)
: ; 0. a); 0.48(aa

(3) 0.36(AA): 0.48(Aa); 0.16(aa) | (3) 0.36(AA); 0.48(Aa); 0.16(aa)

(4) 0.16(AA); 0.24(Aa); 0.36(aa) I (4) 0.16(AA); 0.24(Aa); 0.36(aa)

54. Which of the following statements regarding mitochondria | 54. =T | B0 I HafSd B AT HAF 3 872
is incorrect? (1) iR el sicRaerT & s |erferd &l 2|

(2) GBI JATETHT H Ve gt DNA 319] Ud ISR

(1) Inner membrane is convoluted with infoldings.

(2) Mitochondrial matrix contains single circular DNA B 2|
molecule and ribosomes. (3) 915y f3reel BrafEIgSel & Uheld, 4RI 7d MEHT &

carbohydrates, fats and proteins. (4) seraetT URaET & ToTSH aTEY R § o T
BT |

(4) Enzymes of electron transport are embedded in outer

|
|
|
|
|
(3) Outer membrane is permeable to monomers of | U o 2 |
|
|
membrane. I
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55. Variations caused by mutation, as proposed by Hugo de I 55. ST b g0 S AieT =1 TRATad fhar fh SeRad & BRoT

56.

57.

58.

59.

Vries, are:
1
2
3)
(4)
Following statements describe the characteristics of the

enzyme, Restriction, Endonuclease, Identify the|
incorrect statements. |
|

small and directional

small and directionaless

|
|
|
. |
random and directional |
random and directionless |

|

|

(1) The enzyme cuts the sugar-phosphate backbone at
specific sites on each strand. |

(2) The enzyme recognizes a specific I
palindromicnucleotide sequence in the DNA. |
3) |

The enzyme cuts, DNA molecule at identified position
within the DNA.

The enzyme binds DNA at specific sites and cuts
only one of the two strands.
Which part of the brain
thermoregulation?

|
@ l
|
|

is responsible for

|
(1) Corpus callosum |
(2) Medulla oblongata I
(3) Cerebrum |
(4) Hypothalamus |
Use of an artificial kidney during hemodialysis may result I

Nitrogenous waste build-up in the body
Non-elimination of excess potassium ions

|
|
Reduced absorption of calcium ions from gastro- I
intestinal tract |
(d) Reduced RBC production |
Which of the following options is the most appropriate? |
(1) (c)and (d) are correct
(2) (a)and (d)are correct
(3) (a)and (b)are correct

(4) (b)and (c) are correct

Bacillus thuringiensis in boll worm?

(1) Alkaline pH of gut

(2) Acidic pH of stomach

(3) Body temperature

(4) Moist surface of midgut |

|
|
|
|
|
|
What triggers activation of protoxin to active Bt toxin of |
|
|
|
|
|

56
57.
58.
59.

faf=Tard el &, ¥8 Sl Bkl 27
(1) BIEI iR feeme®

(2) BT &R faoRflRa

(3) TgfE® IR fFensi®

4) Tgfes IR fReRfeq

. FrferRed wed dfdeed grergfdeyst UssH & efoll &

qUIF BRI B | TAT HAT B AT |

(1) I8 USTIEH TS el WR fa9Y Rerell TR Idh_—hRWe
59 B HIedl B |

(2) ¥ Golisd DNA R U fARe Uelivgife <gfderdicrss
3TIEhH 1 U PRAT &

(3) I% UaisH DNA W g §Y wITH W DNA &1 Fred 2 |

(4) T8 USTgA DNA &7 {2y verell iR Siiedr 2 3R a1 H 9
Pdcl Th oISl Dl Hledl © |

AR BT B AT 9RT 9= =0T & fory SverlY 87

EIATSTATAN (YaT 3TUIgH) & QIR G gab & UM

P IR WHY :

(a) ATZSISTHY JUfdine TR & $hed & O B |

(b) fRad dfRrM sma=t &1 fAeprad &} &) urar |

(C) STSR—3TCIA U | DfedaH Il & TaeNyoT H HHI
3 2 |

(d) RBC STE # %HI 31Tl 2 |

ffaRad # 9 —a9 fadea Aaffds Sfoa 82

(1) (c) vd (d) S ®

(2) (a)vd(d)Sfa g

(3) (a)vd (b)Sfra g

(4) (b) vd (c) S ®

e wrer fosfi 3 Sfera IRITIR & Bt anfaw &1 |fha

B B U UISTRI &1 Afshaar st IRa gl 272

(1) =7a & &g pH

(2) AR BT 3l pH

(3) ¥IRR HT AYAE

(4) HEHIMTT BT T dTel Hag
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60.

61.

62.

63.

64.

65.

Which fo the following protocols did aim for reducing | 60.

emission of chloroflurocarbons into the atmosphere? |
(1) Gothenburg Protocol |
(2) Geneva protocol |
(3) Montreal Protocol |
(4) Kyoto Protocol :

|

Which of the following sexually transmitted diseases is ! 61.

not completely curable?
(1) Genital herpes

(2) Chlamydiasis

(3) Gonorrhoea

(4) Genital warts.

(1) Nitrification
(2) Denitrification
(3) Nitrogen fixation

(4) Chemoautotrophic fixation |

In Antirrhinum (Snapdragon), a red flower was crossed | 63.

with a white flower and in F,generation. pink flowers were
obtained. When pink flowers were selfed. the F, genera-
tion showed white red and pink flowers. Choose the in- |

correct statement from the following: |
(1) Ratio of F,is i(Red): %(Pink):i(white) I
(2) Law of segregation does dont apply in the experiment. |
() This experiment does not follow the principle of |
Dominace. |

(4) Pink colourin F, is due to incomplete dominance.

In a species the weight of newborn ranges from 2 to 5| 64.

kg. 97% of the newborn with weight fron 2 to 2.5 kg or |
4.5 to 5 kg die. Which type of selection process is |
taking place? |
(1) Disruptive Selection
(2) Cyclical Selection

(3) Directional Selection
(4) Stablizing Selection

(1) alectin

(2) apigment
(3) an alkaloid
4

|
|
|
|
|
|
|
ConcanavalinAis : |
|
|
|
|
) an essention oil |

|

|
|
|
|
|
Thiobasilus is a group of bacteria helpful in carrying out: | 62
|
|
|
|
|

=1 Tl 3 fhad! Sgavy argHsel § FelRITRIBIa !
@ IS Pl HH BRAT AT?

(1) RIS dreTbid

(2) Rrar uerapta

(3) difeua Uietaia

(4) FCT Heidid

= # 3= a1 9 FaRa A guia: A T8 22

(1) sHfA® aRked

(2) FIBfEFar

(3) gorrp

@) <ifr ==y

TRy, Sfiargsil &1 Ue &g &, Sl fefalad § 4
B9 A H B H TR PR 27?

(1) e

(2) drTggiaRT

(3) IS ReReHRor

(4) X Ut ReRidRor

GERTSTH (FUST) | b el Y bl 3o Yo F H efral
e 9T gY | STd elTdl Gl 1 ORI fbar T qer F,
H 2dd, S1eT 3R el g ure gy | Fefoiad # 3 et
BT BT TG DITOIY |

(1) F, T a/gurd %(W):Z(W):Z(W)
(2) T TANT # YIGHROT BT 99 AN 78T B

(3) TB TANT YHIATT & FAGTRT BT SITARYT &I Bl
(4) F, el 41, 31qel srfaar & iRor S

U ATefiSt # Fa9Td BT IR 295 kg 19 2139 3.3 kg
3T g9TH dTel 97% wTaiid Sifad I8 Sidfdh 29 2.5 kg WR

qTel 31raT 4.5 5 kg 99% aSTd 7R 7Y | T8! fhd UHR &
T feha 81 <@l 87

(D Ta_rget PMT Contact No : 011-41024601-05

Website : www.targetpmt.in

Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058

excuusiewy ror menicaL enrance | E-maail : info@targetpmt.in

Page No# 13




(1) Lysosomes are membrane bound structures.

(2) Lysosomes are formed by the process of packaging
in the endoplasmic reticulum

(3) Lysosomes have numerous hydrolytic enzymes.

(4) The hydrolytic enzymes of lysosomes are active
under acidic pH

(1) e f3reel | okl g8 WA ©

(2) RFHT el SifeidT H AHIC Ufhar gRT §-7d
gl

(3) TSIl § 9gd W S IMTECHIT TollgH B & |

(4) TEFHRI & STe ATFCHI ToTTgH 3Feid pH H fehareiial
BB

Date : 05.05.2019 NEET-2019/Code #S-2
66. Match the column - | with Column-II: I 66. 9 - | BT WY-11 H e Hifore:
Column- Column-li | -1 @ ¥-ll
(@) P-wave (i) Depolarisation of I (8) P (i) Frorit a1 e
ventricles
(b) QRS complex (i) Repolarisation of I (®) QR.SW%T (i) Ferelt @1 g5: gdimeer
ventricles | (0 T (iii) DRI grara
(c) Twave (iii) coronary ischemia | (d) T-GRT & MR H (iv) sifefar @1 fagdRaor
(d) reductioninthe (iv) Depolarisation of atria I BT v) GquIWTngIdNUI
size of T-wave (v) Repolarisation of atria | SR ey &1 aa9 BT |
select the correct options: I @ () (© d)
ERERE
i i v ii
EERE
@ & O (i) (i) |
@ ™ O O O @ ™m0 e
67. Match following genes of the Lac operon with thelr: 67. b MR & 477 Sl o1 S1d Seral & ey e
respective products: | BN
(a)igene (i) b -galactosidase | (a)isiA (i) b -TelacraTg s
(b) zgene (ii) Permease I (b) z i (ii) T=HgST
(c)agene (iif) Repressor | (c)asi= (iii)) TAFTHRY
(d)y gene (iv) Transcetylase | (d) y it (iv) SITAICTE ool
select the correct options: I Sferd fdbey &1 =T B |
@ ® ©© @ | @ (® (¢
Ay Gy @ W (@) A ) S (1) N ) N (V) B ()
@ i) @) @ (i) I @ (i) v) @) (i)
@) ) @iy @) (v) <) A () B ([1) B (1 (1%
@ i) O @ W l @ i) 0 @ W
68. Which of the following statement is not correct? | 68. fr=ifeiRad & & &I W1 B e & 82
|
|
|
|
|
|
|

69.

In some plants the female gamete develops into embryo | 69. BB T <al # #1aT g A1 Fe & yor 4 aRaffa &

without fertilization. This phnomenon is known as:
(1) Syngamy (2) Parthenogensis

(3) Autogamy (4) Parthenocarpy

SITdT & | $9 TS Dl T HET Sl 8°
(1) IHS Helaa (2) 3BT
(3) Ty (4) srfeHed
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Date : 05.05.2019 NEET-2019/Code #S-2
70. Match the column -I with Column-II 70. BIH-1 BT Dict-1l F FAferd HIFY
Column-l Column-ll Bl Bl
(a) Saprophyte (i) S}/m.b|ot|c . (a) T i) ST B e Bt
association of fungi
with plant roots EANEEICISISE
(b) Parasite (i) Decompotion of dead (RSIE (i) qa ST ugrat H1 JuEe
organic materials (c) erga (iii) Sfarer et srerar v
(c) Lichens (iii) Livingon living plants W e qIeT
or animals . .
: . - (d) AEPRTZT (v) Sarel 3R Bt Hr
(d) mycorrhiza (iv) Symbiotic
RESIEIRS SRS

.

72,

73.

association of algae
and fungi

Choose the correct answer form the givin below:

@ ® (@© (@

M @ 0O G W
@ @) (i) ) )

@ O @) (i) W)
(S (1) () O N (%

Which of the following is a commercial blood cholestrol
lowering agent?

(1) Streptokinase

(2) Lipase

(3) CyclosporinA

(4) Statin

Which of the following features of genetic code does

allow bacteria to produce human insulin by recombinant |
DNA technology?

(1) Genetic code is nearly universal
(2) Genetic code is specific
(3) Genetic code is not ambiguous

(4) Genetic code is redundant

The ciliated epithelial cell are reuired to move particles | 73.

|
|
|
|
|
|
or mucus in a specific direction. In humans, these cells I
are mainly present in: |
(1) Eustachian tube and Salivary duct |
(2) Bronchioles and Fallopian tubes I
(3) Bile duct and Bronchioles |
| i

|

4) Fallopian tube and Pancreatic duct

Fr=Tifhd fadeal 3 |8l SR gHw:
@ ® @©© @

(1 @ @ (i) V)

@ @) @) (v) ()

@ @ @ (i) Gv)

@) @iy @ @ V)
. 1 W B9 SRR BieRgTd $° B Il AdaTd HRE
22

(1) FLerBES

(2) crgus

(3) ARIFARERA A

(4) wfes

. 91 ¥ 3aTiRies Uane &1 BIF AT AL STarY] Bl Ao

DNA d&1d & §RT A1d S I d Il 272

1) SMTAIRIE Yare T ATGHIfE B 2

2) A e fafire g 2|

3) SIS Tehe SrfaTe BIdT ¢ |

4) IAiRE yae @ BT 8

GEATEIRT SUDHCAT DITTBIY BN AT TIHT DI U Iy

fa=m # wenford &1 & fou SIH% B 8| "ea A Y
BHIRMHTY SuRed &I 2

(1) FRRA el vd aR arfe=t

(2) TaaREel vd feTanaiar #

(3) fu arfe=t va wawf-reprai

(4) TSTanfef~al va st arfe o

(
(
(
(
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Date : 05.05.2019

NEET-2019/Code#S-2

74. Conversion of glucose -6-phosphate the first irreversible | 74.

75.

76.

77.

78.

79.

reaction of glycolysis, is catalyzed by :
(1) Enolase

(2) Phosphofructokinase

(3) Aldolase

(4) Hexokinase

Which one of the following is not a method of in situ, 75.

!

|

|

|

|

|

|

|

conservation of biodiversity? I
(1) Botanical Garden |
(2) Sacred Grove |
(3) Biosphere Reserve :
(4) Wildlife Sanctuary I
|

|

|

|

|

|

|

|

|

|

|

|

|

|

The concept of “Omnis cellula-e cellula” regarding cell | 76.

division was first proposed by:

(1) Schleiden

(2) Arustotle

(3) Rudolf Virchow

(4) Theodore Schwann

Select the correct group of biocontrol agents:

(1) Oscillatoria, Rhizobium, Trichoderma

(2) Nostoc, Azospirillium, Nucleopolyhedrovirus

(3) Bacillus thuringiensis, Tobacco mossaic virus, Aphids

(4) Trichoderma, Baculovirus, Bacillus, thuringiensis

Identify the correct pair of representing the causative | 78.

agent of typhoid fever and the confirmatory test for
typhoid.

(1) Salmonella typhi/Anthrone test

(2) Salmonella typhi/ Widal test

(3) Plasmodium vivax/UTI test

(4) Streptococcus pneumoniae/ Widal test

Select the incorrect Statement.

(1) In domesticated fowls, sex of progeny depends on
the type of sperm rather than egg.

(2) Human males have one of thier sex-chromosome
much shorter than the other.

(38) male fruit fly is heterogametic.

(4) In male grasshopper, 50% of sperms have no sex- |
chomosome. |

*o;Lcm\ri BT TIDIT-6-HhHT H YRIAT ST TATgD TR Bl
UET IO SIfAfHAT B fhea gRT SART Bt ©

(1) TATerS

(2) BRWBIhICIDIZS

(3) TcsIeral

(4) TaArHTEST

frrferRaa # &1 319 U Safafdadr & TR ARefT Bl

fafer € 872

(1) IS e

(2) ufex a9

(3) Sig HUsd WRfgT &aF

(4) TSI MIRYY

PRI TS & e “SNEH HeGAT-3 AT DI Hed]

|y A gfaarfad @t ofi?

(1) wIgeH

(2) R

(3) weiew R

4) forreR vae

7. 59 R SR$I & F [Ahed &1 T B |
(1) itRrecIRar, TgSifaam, grgdrent

ur\r\

(2) iTcTad, ToIRUgReM, GfdaRitieiE g aRRE

(3) I LRARIUHIN, TIdD! Aold arRd, Ufhs

@) TISHIeH!, TRIATIRIRE, SHIe™, RIARTIHE
fFrfoiaa § 4 99 WEl g™ H gy Sl TsHhIss SR &
PREF IR TISHISE B TR BT BT BT 27

(1) SATHET SISWI/ T gReqor

(2) AR/ Rreer geT

(3) wISAISTH dTsdad / JT1.3TTS. URIeqor

@) TWeIDIha gar fasa uRleror

9. 3T BT BT AT BITSTY
(1) OTerRL T H HART BT T IYEHIY] & UHR WR AR e
2 A1 &5 Sfery W |

(2) AME TRI H U foliT URGH IR & 3fUelTad dgd BICT
&I 2 |

(3) W WerHad! fawrgHa! B1d T |
4) R fessT 4 50% Yh1opatl # 7T [orRga &1 Bl
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Date : 05.05.2019

80. Select the correct sequesnce of organs in the alimentary ' 80. fIeraee 1 SMBRATA W 43T H 3TR9 &R 31 & Ifod o

canal of cockroach starting from mouth:

(1) Pharyn —» Oesophagus — Gizzard — lleum —
Crop — Colon —» Rectum

(2) Pharynx — Oesophagus — lleum — Crop —
Gizzard — Colon — Rectum

(38) Pharynx — Oesophagus — Crop — Gizzard —»
Ileum — Colon —» Rectum

(4) Pharynx — Oesophagus — Gizzard — Crop —»
Ileum — Colon — Rectum

81. Colostrum, the yellowish fluid, secreted bu mother during | 81.
the initial days of lactation is very essaential to impart |

immunity to the newborn infants because it contains:

(1) Macrophages (2) Immunoglobulin A

(3) Natural killer cells (4) Monocytes

82. What is the fate of the male gametes discharged in the | 82.
|

synergid ?

|
(1) One fuseswith the egg, other (s) fuse(s) with synergid |

nucleus.

(2) One fuses with the egg and other fueses with central |

cell nuclei.

(3) One fuses with the egg. other(s) degenerate (s) in

the synergid.
(4) All fuse with the egg.

83. What map unit (centimorgan) is adopted in the | 83.

construction of genetic maps ?

(1) A unit of distance between ganes on chromosomes, |

representing 1% cross over.

(2) Aunit of distance between ganes on chromosomes,

representing 50% cross over.

(3) A unit of distance between two expressed ganes,

repersenting 10% cross over.

(4) A unit of distance between two expressed ganes,

representing 100% cross over.
84. Select the hormone-releasing intra-uterine devices.
(1) Progestasert, LNG-20
(2) Lippes Loop, Multiload 375
(3) Vaults, LNG-20
(4) Multiload 375, Progestasert

|
|
|
|
|
|
|
|
|
| 84.
|
|
|
|
|
|
|
|

NEET-2019/Code #5-2
BT TIT BRI
(1) T — TRIBT — TN - SR — TRT - BleAT
— XaeH
(2) T — TRIBT — ST — IRT — YFofl 5 Bled
> XqcH
(3) T — TRIBT — IR — o > SRR — Pler
> XqcH
(4) T — TRIBT — Juoft 5 IR > o — Pl
— XaeH

U B RS Al § AT gRT SAfad diel avd

PIARSH oI H UfRET UG &1 B oIy 1T SMawId

2 Rifh 399 Bl © -

(1) ey (2) grelgferT A

(3) WIEfd AR® BIRIBIV (4) Yhdd]

BRI It § waferd Y =R gl &l uRomd T grdm

?

(1) U& 3AUS & 1T Aferd Bdl & AR TAT (SH) e
DIRNGT S Dad B AT FIford 8IdT & /B 7

(2) US TS & AT FIfId BNl B 3R G HER DIRAHI
@ Dol | Aferd BIaT B |

(3) S I, TS B AT FIAT Il & MR T (SIW)
BT BTG & B B AT Fferd Bl 8 /ST & |

4) T U B TS FIfeT B B

AR AR & FHvr & forg S AFeE $aTg

(FEHTT) =TT TT2r?

(1) 1% 319 3R Bl [HAT B 8Y, YOREEN IR ST &
a1 0 @ T 3PS |

(2) 50% I 3aR BT BT B 8T, ORGSR Sl &
a1 0 @ T 3PS |

(3) 10% 3pI 3aR P! HMUT BRI §Y, YURGAT WR Sl &
a1 0 T TE 3PS |

(4) 100% b1 3fTeR BT FIBIUT B Y, TORLAT TR SiAI
@ 99 O B TP 3DIS |

BT Aael 31 TR Jfaadt o1 a7 2 |

(1) "oRer™E, LNG-20

(2) fora o, Aecralre 375
(3) drecd, LNG-20
(4) AEIATS 375, AIORTRT
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Date : 05.05.2019 NEET-2019/Code#S-2

85. Select the correctly written scientific name of mangoI 85. 3H BT DI NI §RT FauH aad fohar 37 |l
which was first described by Carlous Linnaeus: | forRaa dsfee M &1 T BINY

(1) T gt

(2) T gt

(3) #RIHRT 3f¥PT BR for
(4) wRTeRT Sf$dT form

(1) Mangifera Indica

(2) Mangifera Indica

(3) Mangifera Indica Car Linn.
(4) Magifera Indica Linn

86. Which of the following pairs of gases is mainly  86. Fr=IfeiRad # & NGT &1 B9 A1 ™ BRA [ U9E & oy
responsible for green house effect. I B A ARG &7
(1) Nitrogen and Sulpher dioxide (1) TSI 3R Hohr SrSIITRITSS
(2) Carbon dioxide and Methane (2) Fre SE:iaaTSS SR Ao
(3) Ozone and Ammonia (3) S 3R M=
(4) Oxygen and Nitrogen (4) MRS IR Ao
87. The frequnecy of recombinattion between gane pairson | 87. Sii9i & §= q@r ® AT b ®©Y F Th B UG ERN STH gTFﬁ
the same chromosome as a measure of the distance @ 9 gt @ QmafRy 3 @me fhds gRT @l T &R
between ganes was explained by: () s wdie
(1) Alfred Sturtevant
: (2) wed dIaa
(2) Sutton Boveri
(38) T.H.Morgen (3) wa. Hiis
(4) Gregor J. Mendel (4) IR S T
8. 1 # & 319 A1 HF | 72

(1) Corneais convex, transparent layer which is highly
vascularised

(1) Bif-ar S<TeT IR WRd ® S 1S Hagf=id 811 &
(2) BIAT H BITST BT TET 3TN BT & 3R T8 =5 Bl

(2) Cornea consists of dense metrix of collegen and is i Haaestie
the most sensetive portion of the eye.
(3) Corneais an external, transparent and protective
TERT € |

proteinacious covering of the eye-ball

(4) BRI H SR BT Ha= FAISN STb BT & ST 3T
ARATT R AhT 8 |

(4) Cornea consists of dense connective tissue of elastin
and can repair itself.

89. Which of the following musculer disorders is inherited ? | 89. =1 & 9§ ®=ar w3 fadrR g9 Td 272

(1) Myasthenia gravis (1) wrgAfar afds
(2) Botulism (2) drcferon
(3) Tetany (3) 3ruIemT

(

(4) Muscular dystrophy

(3) BT 77 TMeld BT Udh d18d URGell g el Uiy

qTetlects, GATdishd WUIdRd WD Bl Higd UrSeR & Sl
fFeforad o & fods forg we garg uerel & wu 4
gficsdpd gs 27

(1) Fs® & fHor 4

(2) wrferar iR ursy 99 H

(3) wiRead T Aferar g H

| 4) SR& ® ®U H

90. Polyblend, a fine powder of recycled modified plastic, | 90
has proved to be a good material for

(1) Construction of roads

) making tubes and pipes

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
88. Which of the following statements is correct ? I 8
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

(2
(3) making plastic sacks
4

) use as afertilizer
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Date : 05.05.2019

NEET-2019/Code#S-2

[ PHYSICS |

91. Average velocity of a particle executing SHM in one | 91.
complete vibrationiis : |

|

Ao’
(1) 3 (2) zero I
@ 5 @ Ao :

92. Two similar thin equi-convex lenses, of focal length f | g2,
each, are kept coaxially in contact with each other such I
that the focal length of the combination is F,. When |
the space between the two lenses is filled with glyc- |
erin (which has the same refractive index (u=1.5) as |
that of glass) then the equivalent focal length is F,. The |
ratio F, :F,will be: |
(1) 2:3 @ 3:4 |
@ 2:1 @4 1:2 I

93. A particle moving with velocity v is acted by three | 93.
forces shown by the vector triangle PQR. The velocity |
of the particle will : |

P

R Q

) remain constant

1

2) change according to the smallest force QR

3) increase

4) decrease |

94. Ionized hydrogen atoms and o—particles with same | 94.
momenta enters perpendicular to a constant magnetic |
field B. The ratio of their radii of their pathsr, : r_ will be |
(1 4:1 @ 1:4 |
3) 2:1 4 1:2 I

95. Body A of mass 4m moving with speed u collides with | 95.
another body B of mass 2 m, at rest. The collision is |
head on and elastic in nature. After the collision the |

fraction of energy lost by the colliding body Ais : |

(
(
(
(

4 5 |

M 5 @ 5 I
1 |

@ 5 @ 3 |
|

|

Teh QUi lerel H ARl JATae i bRel febeil o7 bl At
T EICT &

m 22 @ ¥
@ 5 @ Ao

TR f Blbd U & &I A Ul FAIe o Teb iy
@ 1T TR B0 ¥ 39 UHR W 9T ©, & FaIo &
BIbdt 1 F & | Sfd SH1 ofdl & 4t &1 e e
(b1 JMUacid ®id & AUacd (u=1.5) ® THH 2 )
{ RIS & | 79 Ied BIdd X F, 8 | 99 ogurd F, o F,
Qe

(1) 2:3 2) 3:4

@) 2:1 @) 1:2

|feer Byt PQR ¥ SR SIAR ¥ ITAM T BT
TR T 9o B IR I © | §9 DT BT 9

P

(1) faa &

(2) TYTH IAQR B IR uRafId &1

(3) dem

(4) "

AT BTgSIoT URHTY] TAT 0i—h 0T T HaT 3 febd
fraa gra &=, BH owad Yaer axd 2 | g9 Ul @Y
Freamell @1 31U r,, @ r, 81 :

(1) 4:1 2) 1:4

3) 2:1 @) 1:2

u T | TREE 4m SIAE fF awg A, TR W 2m

SIAM DI 3 O] B & A1 TFPR PR & | TIPR TR
TAT YGT H TR B | TIBR D UL, TIDR DR dTell

9] AERT 819 FHoll BT 9T 81T
4 5
M 3 @ 5
1 8
@ 3 @ 5

Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058

(D Ta_rget PMT Contact No : 011-41024601-05

exciusvew ror meorca enrrance | E-mail : info@targetpmt.in Website : www.targetpmt.in

Page No# 19
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NEET-2019/Code #S-2

96.

97.

The speed of a swimmer in still water is 20 m/s. The | 96. ReR 5 ¥ fbell ARTF & AT 20 m/s & | 71 B Tt &1

speed of river water is 10 m/s and is flowing due east.

If he is standing on the south bank and wishes to cross |
the river along the shortest path, the angle at which he |

should make his strokes w.r.t. north is given by :

(™
3)

In the circuits shown below, the readings of the
voltmeters and the ammeters will be :

60° west
30° west

(2) 45° west
4) 0°

I 10 m/s 2 3R 98 1% gd 1 3R 98 3@ 2 | IS I8
gl fhaR R @eT & 3R ol Bl Tgad U & rfasl
IR AT 8T © Al SR & AT S 579 BT R Wi

SRICECIECT S
(1) 60° ufaH (2) 45° ufd=H
(3) 30° ufd=H @) o°

A fezamy aRRuell 4, dreeHieRl T JMITRI &1 UIedi®
ISR

98.

99.

100.

100 10 O 10Q 10 Q
AV AW AV oy
® L84 ©
T ®) ®) @) @
|| L || L
10V 10V 10V 1oV
Circuit 1 Cireuit 2 ufRuer 1 ufRuer 2

(™
3)

|
|
|
o
|
|
|
|
|
|
|
|
|
|

V,=V,andi, =1,
V,>V, andi, =1,

@) V,>V, andi, >,
(4) V,=V,andi >, |

A 800 turn coil of effective area 0.05 m? is kept| 98.
perpendicular to a magnetic field 5 x 10° T. When the |
plane of the coil is rotated by 90° around any of its|

coplanar axis in 0.1 s, the emf induced in the coil will
be :

™
3)

2) 0.02V I
4) 0.2V |

2x103%V
2V

At a point A on the earth’s surface the angle of dip, | 99.

0 =+ 25°. At a point B on the earth’s surface the angle |
of dip, 6 =—25°. We can interpret that : |

™
@)
3)
)

An

Aislocated in the northern hemisphere and B
is located in the southern hemisphere

|
|
A and B are both located in the southern |
hemishere. |
A and B are both located in the northern |
hemisher. |
Alislocated in the sourthern hemisphere andB |
is located in the northern hemipshere. |

electron is accelerated through a potential | 100.

difference of 10,000V. Its de Broglie wavelength|

is,(nearly) : (m_=9x 10" kg)

™
@)
3)
)

12.2x10™m

12.2nm

|
|
|
|
12.2 x 109 m I
12.2x 102 m |

|

|

(1) V,=V, @i =i, (2 V,>V, @i >i,

3) V,>V, @i =i, @) V,=V,ai >,
gaTdl &Ahe 0.05 m? B 800 WRI B Pl HUSAl
5x 105 T & foedl graara &3 & orrgad X9l 2 | 919 3
gusell & acl dl, 0.1 s ¥ 59 Al FATA 38T & @RI
3R 90° W gofd fram ST 8, A1 59 fusel H URd faeg
qIED Il BN

(1) 2x102V 2) 0.02V

@) 2V (4) 0.2V

el & g8 & [l favg A TR AT BIoT § = + 25° | gedl
% [l o1 fawg B WR A 101§ = — 25° | 89 ARAT IR
|qohd B b

(1) AR e # Rera & @erm B gferd Mo # Rerd & |
(2) ATarB < gferoft wremt # Rera 2
(3) ATATB TM! & I Mo # Rerd 2|
(4) Al Tt 3 Rerd 2 der B ST el H Rerd & |

foreft Setagi= &1 10,000V & fayarR gRT @Rd foar
T B | SHBT T Tl TRITQEd § (TH) ;

m_= 9% 10" kg)

1) 12.2x10™m

(
(
(2) 12.2nm
(3) 12.2x10"m
(

4) 12.2x102m
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101. The displacement of a partical executing simple har-| 101.

monic motion is given by y = A + A sinwt + Bcosdt.
Then the amplitude of its oscillation is given by :

(1) A +(A+BYy (2 A+B
@) A+ JAX+B? @) JA?+B?

|
|
|
|
102. o- particle consists of : | 102.
(1) 2 electrons and 4 protons only |
(2) 2 protonsonly I
(3) 2 protons and 2 neutrons only |
(4) 2electrons, 2 protons and 2 neutrons |
103. A hollow metal sphere of radius R is uniformly charged, | 103.
The electric field due to the sphere at a distance r from |
the centre : |
(1) Zeroasrincreases fromr <Rincreasesasr |
increases forr >R |
(2) decreases asrincreasesforr<Rand forr>R I
(3) increases asrincreases forr<Rand forr>R |
(4) zeroasrincreases forr <R, decreases asr |
increases forr >R |
104. In an experiment the percentage of error occured in 104.
the measurement of physical quantities A,B,C, and D |
are 1%, 2%, 3% and 4% respectively, Then the |
maximum percentage of error in the measurement X, |

2pl/2
where X = W,will be:

(1) -10% 2) 10%

3) [%j/ 4) 16%

|
|
|
|
|
|
|
105. A force F = 20 + 10y acts on a particle iny - direction | 105.
where F isin newton and y in meter. Work done by this |
force to move the particle fromy=0toy=1m s I
(1) 25J (2 20J |
(3) 30J 4) 5J |
106. In Which of the following processes, heat is neither | 106.
absorbed nor released by a system ?

(1) isobaric (2) isochoric
(3) isothermal (4) adiabatic
107. In which of the following devices the eddy current effect, 107.

(1) electromagnet
(2) electric heater
(3) induction furnace
(

|
|
|
|
is not used ? I
|
|
|
4) magnetic braking in train. |

|

WA ATad AT BA YU YD HUT BT faemud
y = A, + Asinot + Beosdt gRT f&ar SIrar € | a9 g6
SIS BT AT BT -

(1) A +(A+B) (2 A+B

3) A+ JA?+B? 4) JA*+B?

o- BT H BT ® ¢

(1) ®aa 2 3eldeid iR 4 HeH

(2) ®HId2WeH

(3) dad 2 UIeH 3R 2 I

(4) 2 geldgi= 2 Giei SR 2 =g

Zrar R @& 61 @igel &1qg @ Tl Bl G A1 ARG

frar T B | Bg WA r W M B HROT g & ¢

(1) SErdedl 8 dir<R & forg ¥ 8 Srar & o
r>R& forg 9g SIar 21

(2) S rded 2 Al r<RIRr>RS fory gear g |

(3) SErdgdr € Ar<RaRr>R % forg ggdr 2 |

4) SEr9edr ® dir<R & forg ¥ 8 Srar ® e
r>R& forg g STar 8

fBT oI 3 ifdes ARMTA,B,C 71 D &1 /19 # 814 arell

FfE BT URrerIar B 1%, 2%, 3% TAAT4% & | 79 X

A1, SEfd X = %,%ﬁa@wmsfdﬁﬁ:
(1) -10% 2) 10%

3
3) [gj% (4) 16%

foll ®oT Wy - e # BIE 91 F = 20 + 10y SR &= &I
T U FIEAH Ay AR A 2| A PT Bl y=0H
y=1mdd T =W # fhar T s 2

(1) 25J (2) 20J

(3) 30J 4) 5J

fr=faRad § & fova uas ufsean , e e gy =1 a1
AT T AT BIAT © 3R 7 &1 HoAT faged 8l 2 |
(1) |AGE™ (2) IMSHDING (HANITAID)
(3) \HATI™ 4) ufeurdfes(wam)
fFrAfoRad § | S ATl | HeR IR 91 W T8l
o Siram 27

(1) fagd ge@

(2) faga dex

(3) TR 9L

(4) <99 g 96 (magnetic braking)
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108. The unit of thermal conductivity is: : 108. ST ATABAT BT AHD ® :
(1) WmK"' (2) Wm'K"' | (1) WmK"' (2) Wm'K"*
@) JmK- (4) JmTK | @) JmK- 4) Jm K
109. A body weighs 200 N on the surface of the earth. How | 109. 5 v &1 quﬁ > U% W ¥R 200 N 21 quﬁ @ deg
much will it weigh half way down to the centre of the | Y 3R S A TR BT TR RperT BTT?
earth? |
(1) 250N (2) 100N | (1) 250N (2) 100N
(3) 150N (4) 200N | (3 150N (4) 200N
110. Two parallel infinite line charges with linear charge den- : 110. <7 FHOR 3+ IRgh 39 T INRgh 39T a9
sities + AC/m and — AC/m are placed at a distance of | + AC/m 3R — LC/m B, Fa 3Tl § 2R & IR & Y
2R in free space. What is the electric field mid-way | 2139 <1 Raep 3wt & I, A7 H fAegd & fapaem 872
between the two line charges ? |
A A
2 A AN N/C 2 N/C
(M) 7o gNC @ 7o rNC BERSETE O —
|
20
3 5 —2—niC @) @) N/C
() Zero () TEGOR | neOR
111. A mass m is attached to a thin wire and whirled in a | 111. &1 Udel AR ¥ IS SIAM m B B ealer g7 A
vertical circle. The wire is most likely to break when: | I ¥ GHIRIT ST ]8T & | $9 AR Bl &+ B 31 FH1aT
(1) the mass is at the lowest point | q9 & o9
(2) inclined at an angle of 60° from vertical I (1) wer fad g w e
gzﬁgﬂ o
(3) the mass is at the highest point (2) TR 60° % T T & |
(4) the wire is horizontal | 3) ° ﬁﬁ WE
I 4) IR afaST
+6V
0 R | . +6V
| R
Al LED (Y) |
A1
112. ! | 12 LED (Y)
0 3t | 3R
| 0 ]
B 1 1 | . —1
= | —
| =
Th_e correct Boolean_operatlon represented by the cir- | o B gRUY gRT Frefid T8 gei wEer
cuit deagram drawn is: |
(1) NAND (2) NOR | (1) NAND (2) NOR
(3) AND (4) OR | (3) AND (4) OR
113. 113. 10 kg S&ME &1 BIs TedH 1m B & el @rga

A block of mass 10 kg is in contact against the inner |
wall of a hollow cylindrical drum of radius 1m. The |
coefficient of friction between the block and the inner |
wall of the cylinder is 0.1. The minimum angular |
velocity needed for the cylinder to keep the block |
stationary when the cylinder is vertical and rotating about |
its axis, will be : (g = 10 m/s?)

|

(1) 10rad/s (2) 10 trad/s :
10 |

(3) /10 rad/s @) P rad/s |

JATHR 7 B ot IR & T § 8 | A GaR iR
Ted & dra =¥ qTe 0.1 7 | 99 Jold SR 2 iR
30 3feT & URG: YU PR R8T 8, Il e Bl ReR @
@ foru smavas faw wrofra o, R (g = 10 m/s?)

(1) 10rad/s (2) 10 wrad/s

10

(3) /10 rad/s @) P rad/s
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114.

115.

116.

117.

118.

A small hole of area of cross-section 2 mm?is present | 114. 2m Sa1$ & Tof w0 F tat A R b ot 3 ¥ deh

near the bottom of a fully filled open tank of height 2m.

Taking g = 10 m/s?, the rate of flow of water through I
the open hole would be nearly: |
(1) 2.23x10°m3s (2) 6.4 x10°m?s |
(3) 12.6 x 10°m¥/s (4) 8.9x10°m?s |

When an object is shot from the bottom of a long| 115.

smooth inclined plane kept at an angle 60° with hori- |
zontal, it can travel a distance x, along the plane. But |
when the inclination is decreased to 30° and the same |
object is shot with the same velocity, it can travel x
distance. Then x, : x, will be:

|

2|

|

(1) 1:3 ) 1:2.f3 |
@ 1:2 @ 211 l
A cylindrical conductor of radius R is carrying a
constant current. The plot of the magnitude of the |
magnetic field, B with the distance, d, from the centre |

of the conductor, is correctly represented by the figure |

R d

A soap bubble, having radius of 1 mm, is blown from a
detergent solution having a surface tension of |
2.5 x 10"2N/m. The pressure inside the bubble equals |

at a point Z below the free surface of water in a con- |
tainer. Taking g = 10 m/s?, density of water = 10° kg/ |
m?, the value of Z is - |

(1) 1cm |
(2) 0.5cm |
(3 100cm |
(4) 10cm |

The work done to raise a mass m from the surface of | 118.

the earth to a height h, which is equal to the radius of |
the earth, is - |

1 3
(1) Eng ) Eng

(3) mgR

|
|
(4) 2mgR I

116.

17.

% e 2 mm? AR BIC &AB Bl Dls BIel O
IuRT & | g =10 m/s? ol §U Wel ¥ & ganfed ol
&1 &R B T

(1) 2.23x10°m¥s  (2) 6.4x 10°m¥s

(3) 12.6 x10°m3/s (4) 8.9x%x10°m¥s

ST AYfCTST | 60° BV WR XY bl o R fTd e bl
Tell 9 fve W wre amar o1an €, @ 98 9 &
R x, G el Hebdll & | IR STd bl Pl TeTehr 30°
R a1 ST & | 7 ST five WR WHI 9 9 e oI
SITAT &, 9 g8 X, T TIel bl & | qa X, 1 X, B -

M 1:3 2 1:2/3

@) 1:42 @) J2:1

a1 R& fod) 9e9TR a7l | is Had aRT yarfad
B & 2 | g &5, B & URATT dT Add & S |
[, A 99 % B FeI Freuer Fefalead § | e
NG gRT fhar a7 87

R d

1 mm @I 3571 a1el A9 & geagel @I, 2.5 x 102N/m.
U3 TG dlel o AUHTSId (detergent) e & IS
(blown) ST 2 | §aigel & 3T<R &9 U UTH H Ul B
I T8 P A fvg Z, TR &I b aR1ER BT & | ol &
g =10 m/s?, Ul ST °icd = 10° kg/m?, Z, T A1 8T
(1) 1cm

(2) 0.5cm

(3) 100cm

(4) 10cm

Pl S M m BT gedl & U ¥ g h, ST gedl Bl
BT & aRIER B, & SR SoM # B i § -

1
(1) Eng

@ SmeR

(3) mgR 4) 2mgR
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119.

120.

121.

122.

Which of the following acts as a circuit proctection:
device ? |
(1) switch (2) fuse |

(3) conductor (4) inductor |

Two particles Aand B are moving in uniform circular| 120.

motion in concentric circles of radii r, and r, with speed |
V, and V, respectively. Their time period of rotation is|
the same. The ratio of angular speed of A to that of B|
will be : I
(1) rgiry, 2 1:1 |
(3) ryirg @) vaivg |

A parallel plate capacitor of capacitance 20 p F is be-| 121.

ing charged by a volatage source whose potential is|
changing at the rate of 3 V/s. The conduction current|
through the connecting wires, and the displacemen’[|
current through the plates of the capacitor, would be, |
respectively : I
(1) 60 uA, zero |
(2) zero, zero |
(3) zero, 60 pA |
(4) 60uA, B0pA |

The radius of circle, the period of revolution, initiaII 122.

position and sense of revolution are indicated in the|
fig. y - projection of the radius vector of rotating particle|
Pis - |

3mt
(1) y(t)=3cos [7) where y inm

Tt
(2) y(t)=3cos [?j , Wwhere y inm

(3) y(t) =-3 cos 2nt, where y in m

it

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
4) y(t)=4sin [?j , Wherey inm I
|
|
|
|

NEET-2019/Code #5-2
119. Fr=IfrRad # & i U, uRuer JReT Jfad & wU |
H HRAT 2 |
(1) fa= (2) TSt
(3) =reid (4) WP

r, IR ry oAl @ W=l gl wR & HUTA SR B o
V, 3RV, 91 & T FHI g TR @R R 2 | 5T guie
BT AT DI T & | AT B BT DI ATl BT ST
S

20 p F enRar & o warar ufedr |aniRa & food o9
dleed S gIRT AR fohar ST J=T ® | faer fava 3 Vis
Pl R 3 IRARIT BT 8T ® | STd aRi 3 Jaifed aleid &,
AR USRI 3 TR aTell fIReIToT gRT SHHer: BT -

(1) 60 pA, =T

(2 T3,

(3) T, 60 pA

(4) 60pA, BOPA

I H g DI AT, UREBHU BT ATaciabed, SRS Reafey
3R uRepaor & faem SR & T 2 | gofF F=xa PP &
e afeer &1 y -vegor 2 |

(1) y(t) =3 cos [%}aﬁy m¥ g

it

() y(t)=3cos [?j,aﬁy,mﬁ%

(3) y(t)=-3cos2nt, F&fy, m & ¥

@) y(t)=4sin [%tj,a’sﬁy,mﬁ%\’
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123. For a p-type semiconductor, which of the following state- | 123. 5 p-TaR @ arefares @ forg fr=feRad ¥ & =

ments is true ?

(1) Holes are the majority carriers and pentavalent

atoms are the dopants.
(2) Electrons are the majority carriers and
pentavalent atoms are the dopants.

(3) Electrons are the majority carriers and trivalent

atoms are the dopants.
(4) Holes are the majority carriers and trivalent
atoms are the dopants.

124. Six similar bulbs are connected as shown in the figrue | 124.

with a DC source of emf E, and zero internal resis-|

tance.

The ratio of power consumption by the bulbs when (i)

all are glowing and (ii) in the situation when two
from section A and one from section B are
glowing will be :

— —
A

M
"

™

g ¥ Ho

E

1 1:2
3) 4:9

2 2:1
4) 9:4

125. Increase in temperature of a gas filled in a container | 125.

would lead to:

(1) decreasein its pressure

(2) decrease inintermolecular distance
(3) increase in its mass

(4) increase in its kinetic energy

126. In adouble slit experiment, when light of wavelength | 126.

400 nm was used, the angular width of the first minima |
formed on a screen placed 1 m away, was found to be |
0.2°. What will be the angular width of the first minima, |
if the entire experimental apparatus is immersed in |

water ? (W,....
(1) 0.05°

(2) 0.1°

(3) 0.266°
4) 0.15°

= 4/3)

BT W8T 87

(1) TR agd=Td dr8d & 1 TaddIsid URATY ATad
(Sre) € |

(2) TOEEIA IEHEID ATED © qAT UTRIAISIe URATY]
AGH (=) § |

(3) TOIECIT IEEED AIED & AT [FbHIISTD URATY]
AGH (=) § |

(4) TR IS d18d & AT HAHHATSIS URATY] HGD
(Sre) € |

IR H TY AJER B YHEAM I I Adib

yfeRTe 3R fagd ar8d ae1 E & fhdl fawe a1 &id o

FAT 2 |

S gcdl gRT SUYT AT BT AU 9 (i) T T

I 8 @R (i) 98 uRRfT R a1 A 917 & @2 ud

B 9T ¥ <A €, BN

——
A

M

3
8§ ¥ Ho

E

1 1:2 @) 2:1
3) 4:9 4) 9:4

=iy o § 91 A & 9 A gig B A a1 B
(1) 9@ 39 H FHH

(2) IAARTATD A H HH

(3) =9 s H giE

(4) za®! RS ot # 9

fosdr fg 3R wanT #, 519 400 nm TRTeed & UdhTeT &l
SYART far =, @ 1 m <0 ) Rd ud . 99 U8
s o Do dierg 0.2° Uil T | afe TA SudRoT
31 91t # gal faan, A1 gt s @ el e fadw
BfI? (u__ = 4/3)

(1) 0.05°

@) 0.1°

(3) 0.266°

(4) 0.15°
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127.

128.

129.

130.

131.

132.

133.

—3.4eV. Its kinetic and potential energies are,
respectively:

(1) 3.4eV,-6.8eV
(3) -3.4eV,-3.4eV

2) 3.4eV, 3.4eV
(4) —3.4eV,—6.8eV |

Which colour of the light has the longest wavelength? | 128.

(2) violet |

4) blue I

(1) green
(3) red

In total internal reflection when the angle of incidence | 129

is equal to the critical angle for the pair of media in|
contact, what will be angle of refraction ? |
(1) equal to angle of incidence |
(@) 90° |
(3) 180° |
@) 0° :

|

A disc of radius 2m. and mass 100 kg rolls on a hori- ' 43¢

zontal floor. Its centre of mass has speed of 20cm/s. |
How much work is needed to stop it ? |
M 2J @ 1J |
(3) 3 (4) 30kJ |

When a block of mass M is suspended by a long wire | 131

of length L, the length of the wire becomes!|
(L+ 1). The elastic potential energy stored in the ex-|
tended wire is :

(1) Mgl @) Mol

(3) Mdl (4) MgL

rotating about its axis at the rate of 3rpm. The torque
required to stop after 2r revolutionsis :

(1) 12x10*Nm

(2 2x10°Nm

(3) 2x10°Nm

4) 2x10°Nm |

Two point charges Aand B, having charges +Q and —Q | 133.

respectively, are placed at certain distance apart and |
force acting between them is F. If 25% charge of A isI

transferred to B, then force between the charges be- |
comes:

16F 4F
) = @ 3
@ F @ ¢

|
|
|
|
9F |
|
|
|

The total energy of an electron in an atom in an orbit is : 12
|
|
|

|
|
|
|
|
A solid cylinder of mass 2kg and radius 4cm isI 13
|
|
|
|
|

T URHATY] &I T Pell # SAd T & fod Soll —3.4eV ¥,
T9 3BT HAEI: Tfrel g Refas Saft @ -

(1) 3.4eV, -6.8eV

2) 3.4eV, 3.4eV
(3) —3.4eV,-3.4eV (4) -3.4eV,-6.8eV
b & HIFT T B STHdq aviTeed 87

(1) W[ B 2) S T A
(3) Tl T @ @) et ST B

. B AARS IR H, TS H AegH & g & oIy 51d

MU DIV, HifTd BT & aRI6R &, AT Y DHIoT FqT
BINTT?

(1) 3MUaH BV & a6

2) 90°

(3) 180°

4) o°

. U% 2m. 3591 9 100 kg T&ME &1 @) &fiast dd I)

el 2 | S GIAM dew Bl T 20 cm/s B, Al gD

b b MU fbds & & sagadpdr 27
1) 2 @ 1J
@ 3 (4) 30kJ

. Sl M SEE BT Uh scdidh L TS & dR §RT dchil

SITAT 8, @ aR @ oF g (L+ 1) 81 Sl &, df J9Rd dR

¥ wfra gy Refos wof

1 lMI 2 lML
(1) 7Mg (2) 7 Mg
() Mgl (4) MgL

4cm B3R 3R 2 kg STHA BT BIg B3I Tl AU 31T
% URT: 3rpm @1 &R H gUIF B &1 B | 27 TRHAT B
& YA Y Ad B oIy 3MaeIH Il MYl 7

(1) 12x10*Nm

(2) 2x 105N m

3) 2x10°Nm

(4) 2x10°Nm

31 fawg amaer ASiR B 5T W e +Q 3R —Q 39T &,
U TR A B8 g3 R RIT ¢ 3R 570 419 a1 arel
JAF B | I A BT 25% 3N B Bl AR o= 3
SIQ, AT mraen & §1 9ot 81 ST

~— ~— ~— ~—

16F 4F
(1) o ) EY

OF
@) F @ 1
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134. Pick the wrong answer is the context with rainbow.

(1) Anobserver can see a rainbow when his front
is towards the sun

(2) Rainbow is a combined effect of dispersion,
refraction and reflection of sunlight.

(3) When the light rays undergo two internal re
flections in a water drop, a secondary rainbow

(1)
) SnF, isionic in nature
PbF, is covalent in nature

GeX,(x =F, Cl, Br, I) is more stable than GeX,

134.

SREIY & W | Terd SR Gy |

(1) ®1E YeTdh Sugy dd o FHal 2 o9 gd 39D
A BT 2 |

(2) S=UIY G & UBI & Aevr, uac SR uRTacA
BT Fgad T 2 |

(3) ST9 il STt @1 g H U T fhvoll QT IR SMARS
R Bl 7, AT BIE fgdad S8y a7 ¢ |

@) fegfrae segy # auit &1 B9 IhfAd 81 ST 2|

5. 88 cm &I BIR DI TS AT T TS Bl bl ey

B BE B IS H gig T gfg TR R TR B | vt
D BE D TS B -

(o, =1.7x10°K"and a,, = 2.2 x 10° K™)
(1) 88cm (2) 68cm
(3) 6.8cm (4) 113.9cm

for Rafa # veerdt # uRad= komedqs gm?
1) o/ | N H Sedura

(
(2) 2H(g)— H,(9)
(
(

3) ST BT ATHIHROT
4) ReR ¥ R U& 9 & TER
7. RS i
N,(g) + 3H,(g) == 2NH,(g) & foq @&l fdseu 2
dN,] _ 1d[NH,]
M ~& 27 &
( diH,] _ ,dNH,]
dt dt
1dH,]  1dINH,]
® 37 T2 a
dIN, d[NH,]
@ - [dt]:2 dt
] FeTd RIgd & IJAR 1 H 9 e fgurAivas
anfeaes wfrerst # A1 n R 87
(1) C, (2) Be,
Q) O, 4) N,

=1 & T B Told 8
(1) GeX,(x=F,Cl,Br,I)GeX,¥ 31fd/d I 2 |
2) SnF,ugid # I © |

is formed.
(4) The order of coloursis reversed in the second
ary rainbow.

135. A copper rod of 88 cm and an aluminium rod of unkown |
length have their increase in length independent of in- |
crease in temperature. The length of aluminiumrodis : |
(0, =1.7x10°K"and a,, = 2.2 x 10°K™) |
(1) 88cm (2) 68cm |
(3) 6.8cm (4) 113.9cm I

136. Inwhich case change in entropy is negative ? | 136.
(1) Sublimation of solid to gas I
(2) 2H(g)— H,(9) |
(3) Evaporation of water I
(4) Expansion of a gas at constant temperature |

137. Forthe chemical reaction I 137
N,(g) + 3H,(g) = 2NH,(g) the correct optionis: |
)OI 1 dINR] l

dt 2 dt |
diH,] _ , dINH,] |

( =
dt dt |
4 _1dH]_1dNH] l
@) 3 dt 2 dt |
diN,] _ ,dINH,] |

- =2

@) dt dt |

138. Which of the folloewing diatomic molecular species has | 138.
only 7 bonds according to molecular Orbital Theory? I
(1) C, (2) Be, |
Q) O, 4) N, |

139. Which of the following is incorrect statement? | 139.

|
|
|
|

SiCl, is easily hydrolysed

(
(3) PbF, Y & HewddoTa® @ |
(4) SiCl, 3T | STl JqEfed 8 & |
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140. Under isothermal condition a gas at 300 K expands 140, wwdTdrT 3ra%er 300 K R T %1 2 9K & o ReR a1e

141.

142

143.

144.

145. Among the following, the reaction that proceeds through

from 0.1 L to 0.25 L against a constant external
pressure of 2 bar. The work done by the gasis : [Given

that 1 L bar = 100J]
(1) 25J (2) 30J
(3) -30J (4) 5KJ
The compound that is most difficult to protonate is :
0) O
O
M ne” e, @ Ph H

0 o)
(3) H/ \H (4) HSC/ \H

Which of the following is an amphoteric hydroxide ?
(1) Mg(OH), (2) Be(OH),

(3) Sr(OH), (4) Ca(OH),

The correct structure of tribromooctaoxide is :

O —
N 1 A
(1) _O—/Br—Br—Br\:O
o I o
o-
O\\ | //O
) O=/Br—||3r—Br\—O*
7 U- o
N 1 P
3) O=/Br—Br—Br<O
o7 | o
0]
N1 A
) O=/Br—||3r—Br\—Of
O/ O \O,
The biodegradable polymer is :
(1) nylon-6 (2) Buna-S
(3) nylon-6,6 (4) nylon 2-nylon 6

an electrophilic substitution is :

UV light
+ Cl, =——> (|
(1) @ ‘
Cl

@) @—CHZOH+HCI _heaty
+

(3) N,Cl CI+N,

(4) <;>—CI2 A—ICI—“><_j_>—C|+HCI

Cl Cl

Cl

Cl

Cu,Cl
_—

CH,CI+H,0

14
142

1
143

144.

145

9 & f9%g 0.1 L9 0.25 L d% TR &l & i gRT
foar 7 s &: [fear 31 & 1 L IR = 100J]
(1) 25J (2) 30J

(3) -30J (4) 5KJ

AT ST He¥ S1feH HISATS H WeHiad il o:

(@)
~ \CH3
0 o)
3 H - \H (4) H,C -~ \H
o= 5 9 19 ) Sy g 87
(1) Mg(OH), (2) Be(OH),
(3) Sr(OH), (4) Ca(OH),
TS SHIICITRITS S BT el WX ©

(1) H,C (2) Ph H

O —
& 1P
1) “O—Br—Br—Br=0
7 N
@) 0
o
O\\ i //O
) O=/Br—Br—Br\—O*
&7 | o
(@]
N 1P
3) O=/Br—Br—Br<O
&7 I \O
(@)
N AR
) O=Br—Br—Br—0O
O// [
O (@]
Stafr=iafia 9gad &
(1) Ieir=-6 (2) =1-S

(3) AI-6,6 (4) T 2-ATgeA 6
o= o 3 g afafhar S soidel= w8 ufaRemuT gy
| BT & —

UV light
+ Cl, =——> (|
(1) @ ‘
Cl

@) @—CHZOH+HCI£a—t>
+  CucCl

o Do o

" QC.Z %Q_CHHC.

Cl Cl

Cl

Cl

CH,CI+H,0
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146.

147.

148.

149.

Match the following :

(@) Pure nitorgen (i) Chlorine (a) NEEIFEIN T (i) AR

(b) Haber process (i) Sulphuric acid (b) TR UHH (i) THIRS 7t

(c) Contactprocess (i) Ammonia (c) <ud UshH (iii) e

(d) Deacon’s process (iv) Sodium azide or d) fe® = gpH (v) AifsT Yorrss a1 IRkaH

Barium azide

Which of the following is the correct option ?
@ ® ( @

(i) (v) iy (i

(iv) (i) iy (i

(i) (ii) iy (v)

(

(

e & 9 o= faden a8l 87
@ ® (( @
(1) iy vy @) ()
@ v @) @) ()
(6) I () I (1) I ([1) I (1%
(
)

|

|

|

|

|

|

|

|

|

(1) ( I

(2) ( |

@) ( |

@ @ ) ) ii) | @ @ v ) ii)

The number of sigma (o) and pi(r) bonds in| 147. U -2-§9-4-3IF H R (o) TA UTS (1) SMMe=IT BT AT

pent-2-en-4yne s : | 2

(1) 11 o bonds and 27 -bonds | (1) 11 o e oI 271 -3HTa=

(2) 13 o bonds and no 7 bond | 2) 13 o ame a1 ) e T

(3) 10 o bonds and 3 &t bonds I (3) 10 o 3MTe=er TAT 3 1 AT

(4) 8 o bonds and 5 t bonds | (4) 8 o 3ATEE TAT5 1 AT

Enzymes that utilize ATP in phosphate transfer require | 148. ®R®T &R # ATP T SUINT HR dTel TroiTgHl
I
|
|
|
|
|
|
|
|
|
|
|
|
|

BT UH AR AT G1g (M) B Maeaadhal Bl 8 Riifs

an alkaline earth metal (M) as the cofactor Miis:

(1) Ca 2) Sr AUl (cofactor) M2 :
(1) Ca 2) Sr
(3) Be 4) Mg @ Be o o

Identify the incorrect statement related to PCI, from, 149, fo= & & PCI, J GG Terd HU9 Bl ggA
the following:

(1) Axial P—CI bonds are longer than equatorial
P—Cl bonds

(2) PCI molecule is non-reactive

(3) Three equatorial P-Cl bonds make an angle of
120° with each other

(4) Two axial P-Cl bonds make an angle of 180°

with each other

(1) &g P—Cl 71, YRy P-Cl % 3 99T ©
(2) PCI, 379 s—3rfafsharelier &

(3) N YR P-Cl 97 s & W1 120° BT I
I ©

(4) <1 e P—Cl 9% IS & W12180° BT D10 g1 &

150. If the rate constant for a first order reaction is k, the| 150. If U pIfe IfAfhar & fofy &R Fraaias k, srffhar &
time (t) required for the completion of 99% of the reac- | 99% ol B9 ¥ IMTaedd FHI (t) BT —
tionis given by: | (1) t=4.606/k (2) t=2.303/k
(1) t=4.606/k (2) t=2.303/k | @ t=0.603k 4) 1= 6908k
(3) t=0.693/k (4) t=6.909/k | e e
151. The most suitable reagent for the following conversion,l 151. 791 [UTRYT & T [ SATRT SUGShdl ANBRSD @
is :
e - | H.C CH,
_ 3 2 | H,C-C =C-CH,——>
H,C-C =C-CH,——> | H H
H H .
, | cis-2-butene
cis-2-butene
(1) Zn/HCl (2) Hg?/H, H,0 | (1) ZnHCl (2) Hg*/H", H,0
(3) Nal/liquid NH, (4) H,Pd/C, quinoline I (3) Na/=a smifean (4) H,Pd/C, zrg:ﬂ'[%m
|
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152. The manganate and permanganate ions are tetrahe- | 152. HTT TUT URATIE I B RO Il Bld &

153.

154.

155.

156.

157.

158.

dral, due to:

(1) The n—bonding involves overlap of p-orbitals of
oxygen with p-orbitals of manganese

(2) The n—bondinginvolves overlap of d-orbitals of
oxygen with d-orbitals of manganese

(3) The n—bonding involves overlap of p-orbitals of
oxygen with d-orbitals of manganese

(4) Thereis no n-bonding

For a cell involving one electron E_,=0.59 V at 298K,

the equilibrium constant for the ceII reaction is:

{Giventhatme’RT
(1) 1.0x10%° (2) 1.0x10%
(3) 1.0x10? (4) 1.0x10°

pH of a saturated solution of Ca(OH), is 9. The solubil-
ity product (K, ) of Ca(OH), is :

(1) 0.125x10°7® (2) 0.5x107"

(3) 0.5x10"% (4) 0.25x10°"

For an ideal solution the correct option is :

(1) A_,H=0atconstant Tand P

(2) A_,G=0atconstantT and P

(3) A ,S=0atconstant T and P

|
|
|
|
|
|
|
|
|
|
|
|
|
=0.059VatT :ZQSK} |
|
|
|
|15
|
|
|
|
|
|
|
|
@4) A_, V#O0OatconstantT and P |

A gas at 350 K and 15 bar has molar volume 20 per- | 156.

cent smaller than that for an ideal gas under the same |
conditions. The correct option about the gas and its|
compressibility factror (Z) is: |
(1) Z <1 and attractive forces are dominant
(2) Z<1andrepulsive forces are dominant
(3) Z>1 and attractive forces are dominant
(4) Z>1andrepulsive forces are dominant

The correct order of the basic strength of methyl sub- , 157

|

|

|

|

|

stituted amines in aqueous solution is : I
(1) (CH,),N>(CH,),NH>CH.NH, |
(2) CH,NH,>(CH,),NH > (CH,),N |
(3) (CH,),NH>CHNH,> (CH3)3N |
(4) (CH,)N>CH,NH,>(CH,)N I
|

|

|

|

|

|

For the second period elements the correct increasing ' 158

order of first ionisation enthalpy is:
(1) Li<B<Be<C<N<O<F<Ne
(2) Li<Be<B<C<O<N<F<Ne
(3) Li<Be<B<C<N<O<F<Ne
(4) Li<B<Be<C<O<N<F<Ne
|

(1) n—a= H RIS B p-HeTh! & HIIS & p-HeThl
@ AT AT BNl & |

(2) n—a H RIS B d-HeTh! BT H-IS & d-HeTDh!
@ AT AT BNl & |

(3) a7 H RIS B p-BHeTDhl BT AT & d-BHeThi
@ A1 AT BNl & |

(4) FET DIS -9 & & |

3. Th I & forv 798 e goraeiy aftaferd 8 298 K TR

E0=0.59V | Wer aififar & forg wra Reria & -

2.303RT

{ﬁmw% T =298Kw =0.059V }

(1) 1.0x10%° (2) 1.0x10%

(3) 1.0x10? (4) 1.0x10°

4. Ca(OH),® wqw fderaw @1 pH 9 & Ca(OH), &1 faeraar
TUEBE (K,) I :

(1) 0.125x10-%5 (2) 0.5x10-°

(3) 0.5x107s (4) 0.25x10-

5. U 37<yl fdoras & ford, 9 fadhey 2

(1) A, H=0ReRTTAP W

2 A,G=0ReRTTAP R

3) A, S=0ReRTTATP W

4) Amlxvatoﬁa’\!TaaTPw

350 KT 15 9R WR Udh I BT AleR TR, S8 oral |
et I B IMIAE W 20 UfAwd 4 B | A qT sHBb!
WISIAT oS (Z) & A= 3 T8l f[dhed @ -

(1) Z <17 yfaadt 9o 9@ 2 |

(2) Z<1TAT AHYE 1 T T |

3) Z> 17 yfaadt 9ot T B |

(4) Z>1TAT FTHYE 1 TT T |

7. STeird faerae # fersd uftRenfud il & e e
BT S B B -

(1) (CH,),N>(CH,),NH>CH,NH,

(2) CH,NH,> (CH,),NH> (CH,),N

(3) (CH,),NH>CH,NH, > (CH,).N

() (CH,),N>CH,NH,> (CH,),NH

. fe<hra emad® @ a@l @ ford v e+ Teeied) &1 |
gl hH BT :

(1) Li<B<Be<C<N<O<F<Ne

2) Li<Be<B<C<O<N<F<Ne

3) Li<Be<B<C<N<O<F<Ne

(4) Li<B<Be<C<O<N<F<Ne
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159.

160.

161.

162.

163.

164.

165.

Which mixture of the solutions will lead to the forma- ! 159. {1 faera= & fAsror A ot emaf¥a drarsS! [Agl]l- A

|
tion of negatively charged colloidal [AgI]l-sol.? I
(1) 50 mLof 2 MAgNO, + 50 mL of 1.5 M KI |
(2) 50 mLof 0.12 MAgNO, + 50 mL of 0.1 M KI |
(3) 50 mLof 1 MAgNO, + 50 mL of 1.5 M KI I
(4) 50 mLof 1 MAgNO, + 50 mL of 2M KI |

For the cell reaction 2Fe*(aq) + 2I-(aq) ——> 2Fe?(aq) | 160.

+1,(aq)

F.f?" = 0.24V at 298K. The standard Gibbs energy
(A, G@) of the cell reaction is:

(Given that Faraday constant F = 96500 C mol)
(1) 46.32kJ mol™

(2) 23.16 kJ mol™

3
(

4

)
)
) —46.32kJ mol”
)

—23.16 kJ mol

Which is the correct thermal stability order for H,E (E
=0, S, Se, Te and Po)?

1) HPo<H,Te<H,Se<HS<H,O

2) HSe<H,Te<H,Po<HO<H,S

) H,S<HO<H,Se<H,Te<H,Po

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
3 |
4) H,0<HS<HSe<H,Te<H,Po |

(
(
(
(

The number of moles of hydrogen molecules required | 162.

to produce 20 moles of ammonia through Haber's |

process is: |
(1) 30 (2) 40
3) 10 4) 20

Which of the following series of transitions in the spec-
trum of hydrogen atom falls in visible region?
(1) Paschen series (2) Brackett series
(3) Lyman series (4) Balmer series |

A compound is formed by cation C and anion A. The | 164.

anions form hexagonal close packed (hcp) lattice and |
the cations occupy 75% of octahedral voids. The for- |
mula of the compound is: |

(1) CA, (2) CA, |
(3) CA, (4) CA, |
The non-essential amino acid among the following is: | 165.
(1) alanine (2) lysine |
(3) valine (4) leucine |

|
|
| 163.
|
|
|

1 T gTT?

(1) 50 mL %12 MAgNO, + 50 mL 1 1.5 M KI
(2) 50 mL®10.12 MAgNO, + 50 mL 1 0.1 M KI
(3) 50 mL 1 1 MAgNO, + 50 mL @1 1.5 M KI
(4) 50 mL 11 MAgNO, + 50 mL &1 2M KI

Jot arffsar & forg

2Fe*(aq) + 2I(aq) — 2Fe*(aq) + 1(aq)

£ = 0.24V W 298K ¥ | St sifafpaT @ " freot
Solt (A G7) B

(feam T 8, wRrs ReRi@ F = 96500 C mol')
(1) 46.32kJ mol~
) 23.16 kJ mol~
@3
(

4

)
)
) —46.32kJ mol
)

—23.16 kJ mol

. HE(E=0, S, Se, Te @1 Po)a fary drdia e &1

HEl 4 87

(1) HPo<H7Te<HSe<HS<H,0

(2) HSe<H,Te<H,Po<HO<H,S

3) HS<H,O<H,Se<H,Te<H,Po

(4) H,0<H,S<H,Se<H,Te<H,Po

TR THH §IRT 20 Al 3MHIfFT Safed oA & forg
ATITD BISSISH B AT Bl H¥T 8

(1) 30 (2) 40

3) 10 (4) 20

BRI URATY] & Wagd ¥, 7 7 4 B9 A7 shor 217
39T &7 H T 77

(1) ure== soft (2) sac I

(3) oA sroft 4) IR ofy

TS AfTe g C T Fomad A9 fAfifd € 1 somad
NCHIV FHGId (hep) STed a9 & | T &I
rethard i RfaTal & 75% a6 R 2, Af® &1 93 &

(1) CA, (2) CA,
3) CA, (4) CA,
o # sTaTI® THIFT T &

(1) Terta= (2) s
(3) el (4) g
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166. An alkene “A” on reaction with O, and Zn - H,O gives  166. Teh Yeabl “A”, O, T Zn — H,0 & Href JAMAfhar &= w)

167.

168.

169.

170.

propanone and ethanal in equimolar ratio. Addition of |
HCI to alkene “A” gives “B” as the major product. The |
structure of product “B” is: |

(4) H,C—-CH,- CI)H - CH,

Which of the following species is not stable?

(1) [Sn(OH){* (2) [SiCl]*

(3) [SiFJ* 4) [GeCl )

Match the Xenon compounds in Column—I with its
structure in Column-Il and assign the correct code :

CH, |
|
(1) H,C—CH,—C—CH, :
|
Cl |
CH, |
|
(2) H,C—GH—CH |
a ! |
CH, |
CH, |
1
(3 Cl-CH,-CH,~CH I
CH, |
CH,CI |
|
|
| 16
|
|
| 16

Column -l Column -1l

(@) XeF, () Pyramidal
(b) XeF, (i) square planar
(c) XeOF, (iii) Distorted octahedral
(d) XeO, (iv) Square Pyramidal
Code:

@ ® (© @
Q)R () (1) B U ()
@ (i) v) @) (i)
@ O @ (i) (v
@) (i) i) @
Among the following, the one that is not a green house
gasis:
(1) ozone (2) sulphur dioxide

(3) nitrous oxide (4) methane

Which of the following reactions are disproportionation ; 170.

reaction?
(@ 2Cu*— Cu*+Cu°
(b) 3MnO*,+ 4H* — 2MnO-, + MnO + 2H,0

(c) 3KMnO, ——K,MnO, +MnO, +0O,
(€) 2MnO; +3Mn** +2H,0 - 5Mn0O, + 4H®

Select the correct option from the following :

(1) (a),(c)and (d)
(3) (a)and (b)only

(2) (a)and (d)only

|
|
|
|
|
|
|
|
|
|
|
|
_ |
V) 0 |
e| 16
|
|
|
|
|
|
|
|
|
|
|
@ (a). (b)and (c) l

FHATAR JTUTT H AU AT UIFa <l & | “A” HCl &
e R “B” &= IUE & wU H T | IAE “B” B
AT E\f :

CH,
(1) HXC—CHZ—CIZ—CHK

G

CH,
@) Hﬁ—QH—éH

Cl ch,

CH,
—CH, - CH, - C:)H

CH,

CH,CI

(4) H,C-CH,- CI)H — CH,
7. 9 #  39 A wiS el w8 87
(1) [Sn(OH)J* (2) [SiCl]*
(3) [SiFJ* (4) [GeClLJ
8. G-l & A Dl &I -1l 7 I AR |
e PIfSTg de w8 are fAfde &
A -1 A -1
XeF, () fRifafea
XeF, (i) @ FHT
XeOF, (iii) fdwd rcwmephIg
XeO (v) o RIS

3

(3) Cl

,\,\,\,\
o O
N NI N

@ ((® () (d
(1) @) i)y @) (v)
@ @iy ) @) (ii)
@ 0 (i) (i) (v)
@ @) @iy ) @)
. = A S N sy N A 8, 'l
(1) 3= (2) AR SIS MAZS
(3) TEgwsifdmEs  (4) fRM
1 arfforaelt § &1 &9 A sraArgUTa fwfhan 27
(@ 2Cu*— Cu?+Cu°
(b) 3MnO*,+4H* > 2MnO-, + MnO + 2H,0
(c) 3KMnO, ——K,MnO, +MnO, +0O,
(€) 2MnO; +3Mn>" +2H,0 — 5MnO, + 4H®
=1 A 9 |8 e g
(1) (a), (c) T (d) (2) Dae (a) 72T (d)
(3) Wdel (a) T (b) 4) (a), (b)<em(c)
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171. The structure of intermediate A in the following [171. fre=r arfdfrar ¥ weaadi A 9 T

172.

173.

174.

175.

176.

/C\'\

The mixture that forms maximum, boiling azeotrope is | 172

OH
(0]

o I

CH,

CH,—O—O—H
HC

7\

CH,

CHa

H, C—C—O—O—

e

. U% fAsror S erfdrean Reraaredl (maximum, boiling

reaction, is : | o
/ 3
CH, CH
CH< OH | \CH3
CH, o | O, ,, _H
o, H' I | H,0
—>A T +H,C CH,
. |
| CH,
CH, CH,—O—O—H | I
| He | O—0O—CH
| CH (1) CH, (2)
(1) CH, (2) ’ I :
|
|
CH, CH, | CHS
ol ' |
oK H,C—C—O0—O0—H
CH, I
|
|
|
|
|
|
|
|

azeotrope) ® :
( ) Acetone + Carbon disulphide (1) T+ BT T ATHISS
(2) Heptane + Octane (2) ‘R + TR
(3) Water + Nitric acid (3) S + AISETd 3%l
(4) Ethanol + Water | (4) TIHTA + oA

What is the correct electronic configuration of the | 173, frea &5 Rigra @& amaR W) K, [Fe(CN)] # &=

central atom in K, [Fe(CN)] based on crystal field |

theory? |
(1) et (2) et
(3) ta€; (@) t;
Conjugate base for Bronsted acids H,0 and HF are :
(1) OH-and F-, respectively

(2) H,O"and H,F*, respectively

(3) OH-and H,F*, respectively

(4) H,O"andF-, respectively

Which will make basic buffer?

(1) et
(3) tye

2
299 99

(1) OH- @I F-, 4

(3) OH-T2TH,F*, T
(4) H,O* qATF—,

|
|
|
|
|
|
|
|
I1 I &R B g T?

(2) H,O* T=rH,F*, T

URATY] BT Al Seldg - (A= &7 BIT?

(2) e't?
@ t

299

174. 9IS 3% H,0 oIT HF & g &R ©

(1) 100 mL of 0.1 MHCI+200 mL of 0.1 MNH,OH | (1) 0.1 MHCI@T100 mL + 0.1 M NH,OH T 200 mL
(2) 100 mL of 0.1 MHCI + 100 mL of 0.1 MNaOH | (2) 0.1 MHCI T 100 mL + 0.1 M NaOH &7 100 mL
(3) 50 mLof 0.1 MNaOH + 25 mL of 0.1 M CH,COOH | (3) 0.1MNaOH @150 mL + 0.1 M CH,COOH @125 mL
(4) 100mL of 0.1 MCH,COOH + 100 mL of 0.1 MNaOHI 4) 0.1MCH,COOH®T100mL +0.1 MNaOH %7100 mL
4d, 5p,5f and 6p orbitals are arranged in the order of| 176. 4d, 5p,5f AT 6p HEDI BT IADI Holl B Ted 8T %A B
decreasing energy . The correct option is: | FaRkerd SIS | Wal fdded 2 -

(1) 6p>5f>4d>5p (2) 5f>6p>4d>5p | (1) 6p >5f>4d> 5p
(3) 5f>6p>5p>4d (4) 6p > 5f> 5p> 4d I (3) 5f>6p > 5p > 4d

(2) 5f>6p >4d>5p
(4) 6p > 5f > 5p > 4d
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177. Among the following the narrow spectrum antibiotic is | 177. = &, 3R (Fefof) Yearifes 2 -

(1) amoxycillin (2) chloramphenicol (1) wETRIfer (2) FENTDRBIA

(3) penicillin G (4) ampicillin (3) uffafed G (4) wiRafer

178. The major product of the following reactionis:

COOH

@ strong heating

COOH
COOH

o X,
s CX

COOH

CONH,

COOH

COOH
COOH

Ned

@)

: :Hz
NH,
0
: i COOH
) NH
o

s CX

CONH,

178. =1 ifafhar &1 Jre SauTe @

@ oNH, ST,
NH
@ @(
NH

0
) | I NH
(0]

179. The method used to remove temporary hardness of | 179. et % s BT se™ @ forg uga fafer &

water is :

(1) lon-exchange method
(2) Synthetic resins method

|
|
|
(3) Calgon's method | (@) et R
|
(4) Clark’s method | 4) Ef?ﬂ’cﬁ fafer
180. Which one is malachite from the following? | 180. 791 & ¥ P19 Us Holdrse 27
(1) FepO, (2) CuCO,Cu(OH), | (1) Fe,0,
() CuFes, (4) Cu(OH), I (3) CuFes,
|
|
|
|
g d a

(1) M - = fafer
(2) <veifya o= fafer

(2) CuCO,Cu(OH),
(4) Cu(OH),
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